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Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion by
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
inaugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and democracy go together. Cole was opposed to the democratic
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Henee, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inelusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : "It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recognized, as
much of human beings as they themselves put into associated effort for a specific

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement I :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement [I  : A person who represents his locality can be expected to decide
guestions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement [ and Statement II are false
(3) Statement I is true but Statement 11 is false

(1) Statement I is false but Statement Il is true

Options :

92090691601. 1
92090691602. 2
92090691603. 3
92090691604. 4



Question Number : 2 Question Id : 92090623178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ is:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090691605. 1
92090691606. 2
92090691607. 3
92090691608. 4

Question Number : 3 Question Id : 92090623179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the meaning of the term ‘actuate’ from the options given below:
(1) Participating in a particular sphere
(2) The ability to make good judgements

(3) Motivate to act in a particular way

(1) Telling

Options :

92090691609. 1
92090691610. 2
92090691611. 3
92090691612. 4

Question Number : 4 Question Id : 92090623180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3 education (1) bad health

Options :

92090691613. 1
92090691614. 2
92090691615. 3
92090691616. 4



Question Number : S Question Id : 92090623181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(Give a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinct
Options :

92090691617. 1
92090691618. 2
92090691619. 3
92090691620. 4

Question Id : 92090623176 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state. carries with it the marks of its perversion by
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
maugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoeracy go together. Cole was opposed to the demoeratic
system of government as it worked in actual practice. He attacked the svstem of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Hence, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inclusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recogmzed, as
much of human beings as they themselves put into associated effort for a specific

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements *

Statement | 1 According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I  : A person who represents his locality can be expected to decide
guestions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(1) Statement I is false but Statement Il is true

Options :

92090691601. 1
92090691602. 2
92090691603. 3
92090691604. 4

Question Number : 2 Question Id : 92090623178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ is:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090691605. 1
92090691606. 2
92090691607. 3
92090691608. 4

Question Number : 3 Question Id : 92090623179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term ‘actuate’ from the options given below:
(1) Participating in a particular sphere

(2)  The ahility to make good judgements

(3) Motivate to act in a particular way

(1) Telling

Options :

92090691609. 1
92090691610. 2
92090691611. 3
92090691612. 4

Question Number : 4 Question Id : 92090623180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3) education (1) bad health

Options :

92090691613. 1
92090691614. 2
92090691615. 3
92090691616. 4

Question Number : 5 Question Id : 92090623181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:
(Give a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet

Options :

92090691617. 1
92090691618. 2
92090691619. 3
92090691620. 4

Question Id : 92090623176 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion by
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
inaugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and democracy go together. Cole was opposed to the democratic
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Henee, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inelusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : "It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recognized, as
much of human beings as they themselves put into associated effort for a specific

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement I :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement II  : A person who represents his locality can be expected to decide
guestions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I 1s true but Statement 11 is false

(4) Statement [ is false but Statement 11 is true

Options :

92090691601. 1
92090691602. 2
92090691603. 3



92090691604. 4

Question Number : 2 Question Id : 92090623178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ is:

(1) stupid (2) foolish
(3 sreat (4) Strong
Options :

92090691605. 1
92090691606. 2
92090691607. 3
92090691608. 4

Question Number : 3 Question Id : 92090623179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the meaning of the term ‘actuate’ from the options given below:
(1) Participating in a particular sphere
(2) The ability to make good judgements

(3) Motivate to act in a particular way

(4) Telling

Options :

92090691609. 1
92090691610. 2
92090691611. 3
92090691612. 4

Question Number : 4 Question Id : 92090623180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3) education (4) bad health

Options :

92090691613. 1
92090691614. 2
92090691615. 3
92090691616. 4



Question Number : S Question Id : 92090623181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(Give a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090691617. 1
92090691618. 2
92090691619. 3
92090691620. 4

Sub-Section Number : 2
Sub-Section Id : 920906741
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090623182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct passive voice for the sentence given below:

Neeraj Chopra won gold medal in the Tokyvo Olymoie 2020,

(1) Gold medal won by Neeraj Chopra in the Tokyo Olympie 2020.

(2) Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3) (Gold medal was won by Neeraj Chopra in the Tokyo Olympie 2020,

(1) Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.

Options :

92090691621. 1
92090691622. 2
92090691623. 3
92090691624. 4

Question Number : 6 Question Id : 92090623182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyvo Olymoie 2020.

(1) Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neeraj Chopra in the Tokyo Olympic 2020,
(3) Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020.
(1) Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090691621. 1
92090691622. 2

92090691623. 3
92090691624. 4

Question Number : 6 Question Id : 92090623182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct passive voice for the sentence given below:

Neeraj Chopra won gold medal in the Tokyvo Olymoie 2020,

(1) Gold medal won by Neeraj Chopra in the Tokyo Olympie 2020.
(2) Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3) Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020.
(1) Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090691621. 1
92090691622. 2

92090691623. 3
92090691624. 4

Question Number : 7 Question Id : 92090623183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,

“How can I do such a foolish mistake™?

(1) Riva told how could she do such a foolish mistake.
(2) Riya aske how can she do such a foolish mistake.

(3) Riva suggerted how she can do such a foolish mistake.

(4)  Riyva thought how she could do such a foolish mistake.

Options :



92090691625. 1
92090691626. 2
92090691627. 3
92090691628. 4

Question Number : 7 Question Id : 92090623183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1) Riya told how could she do such a foolish mistake.
(2) Riya aske how can she do such a foolish mistake.
(3)  Riva suggerted how she can do such a foolish mistake.

(4) Riva thought how she could do such a foolish mistake.

Options :

92090691625. 1
92090691626. 2
92090691627. 3
92090691628. 4

Question Number : 7 Question Id : 92090623183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2) Riyva aske how can she do such a foolish mistake.
(3)  Riva suggerted how she can do such a foolish mistake.

(4) Riva thought how she could do such a foolish mistake.

Options :

92090691625. 1
92090691626. 2
92090691627. 3
92090691628. 4

Question Number : 8 Question Id : 92090623184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of P, . R, 8, to ereate a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

(): subjects or voice that responds

R: is a dialogue of speaking

S: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090691629. 1
92090691630. 2
92090691631. 3
92090691632. 4

Question Number : 8 Question Id : 92090623184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of P, . R, 8, to ereate a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

(): subjects or voice that responds

R: is a dialogue of speaking

S: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090691629. 1
92090691630. 2
92090691631. 3
92090691632. 4

Question Number : 8 Question Id : 92090623184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of P, . R, 8, to ereate a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

(): subjects or voice that responds

R: is a dialogue of speaking

S: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090691629. 1
92090691630. 2
92090691631. 3
92090691632. 4

Question Number : 9 Question Id : 92090623185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2) You haven't seen the film, did you?
(3)  You haven't seen the film, have you?
(4)  You haven't seen the film, do you?
Options :
92090691633. 1
92090691634. 2

92090691635. 3
92090691636. 4

Question Number : 9 Question Id : 92090623185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2) You haven't seen the film. did vou?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :



92090691633. 1
92090691634. 2
92090691635. 3
92090691636. 4

Question Number : 9 Question Id : 92090623185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2) You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4)  You haven't seen the film, do you?

Options :

92090691633. 1
92090691634. 2
92090691635. 3
92090691636. 4

Question Number : 10 Question Id : 92090623186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FFind out which part of the following sentence has an error.
(1) Arushi is weak in Maths
(2) and do not understand the
(3) caleulations

(4)  though her mother explains her repeatedly.

Options :

92090691637. 1
92090691638. 2
92090691639. 3
92090691640. 4

Question Number : 10 Question Id : 92090623186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FFind out which part of the following sentence has an error.

(1) Arushi is weak in Maths
(2) and do not understand the
(3) caleulations

(4)  though her mother explains her repeatedly.

Options :

92090691637. 1
92090691638. 2
92090691639. 3
92090691640. 4

Question Number : 10 Question Id : 92090623186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an error.

(1) Arushi is weak in Maths
(2) and do not understand the
(3) calculations

(4) though her mother explains her repeatedly.

Options :

92090691637. 1
92090691638. 2
92090691639. 3
92090691640. 4

Question Number : 11 Question Id : 92090623187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct combination of the member of “QUAD".

{A) India

(B) Vietman
(C) Japan
(D) Australia
(E) USA

(F) South Korea

Choose the correct answer from the options given below :

(1) (&), (B).(C), (D)
(2) (A, (D), (E), (F)
(3) (A, (B), (E), (F)
(4)  (A), (C), (D), (E)

Options :

92090691641. 1
92090691642. 2
92090691643. 3
92090691644. 4

Question Number : 11 Question Id : 92090623187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct combination of the member of “QUAD".

(A) India

(B) Vietman
{(C) Japan
(D) Australia
(E) USA

(F) South Korea

Choose the correct answer from the options given below :

(1) (A, (B).(C), (D)

(2) (A, (D), (E), (F)

(3) (A (B), (E), (F)

(4)  (A), (C), (D), (E)
Options :

92090691641. 1
92090691642. 2



92090691643. 3
92090691644. 4

Question Number : 11 Question Id : 92090623187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct combination of the member of “QUAD",

(A) India

(B) Vietman

{(C) Japan

(D)  Austraha

(E) USA

(F) South Korea

Choose the correct answer from the options given below :

(1) (A), (B). (C), (D)
(2) (A, (D), (E), (F)
(3) (A, (B), (E), (F)
(4)  (A), (C), (D), (E)

Options :

92090691641. 1
92090691642. 2
92090691643. 3
92090691644. 4

Question Number : 12 Question Id : 92090623188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor player
(3)  Tabla player (4) Esraj playver
Options :

92090691645. 1
92090691646. 2
92090691647. 3
92090691648. 4

Question Number : 12 Question Id : 92090623188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor player
(3)  Tabla player (4) Esraj playver
Options :

92090691645. 1
92090691646. 2
92090691647. 3
92090691648. 4

Question Number : 12 Question Id : 92090623188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor player
(3)  Tabla player (4) Esraj playver

Options :

92090691645. 1
92090691646. 2
92090691647. 3
92090691648. 4

Question Number : 13 Question Id : 92090623189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n which Indian state Gangaur Festival is predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka
Options :

92090691649. 1
92090691650. 2
92090691651. 3
92090691652. 4

Question Number : 13 Question Id : 92090623189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[n which Indian state Gangaur Festival is predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka
Options :

92090691649. 1
92090691650. 2
92090691651. 3
92090691652. 4

Question Number : 13 Question Id : 92090623189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which Indian state Gangaur Festival 1s predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka
Options :

92090691649. 1
92090691650. 2
92090691651. 3
92090691652. 4

Question Number : 14 Question Id : 92090623190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Ministry is associated with the Citizenship (Amendment) Act, 20197

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Ministry of Housing and Urban Affairs
(4) Ministry of Home Affairs

Options :

92090691653. 1
92090691654. 2
92090691655. 3
92090691656. 4

Question Number : 14 Question Id : 92090623190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Union Ministry is associated with the Citizenship (Amendment) Act, 20197

(1) Ministry of External Affairs
(2) Ministry of Defence
(3) Ministry of Housing and Urban Affairs
(4) Ministry of Home Affairs
Options :
92090691653. 1
92090691654. 2

92090691655. 3
92090691656. 4

Question Number : 14 Question Id : 92090623190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Ministry is associated with the Citizenship (Amendment) Act, 20197

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Ministry of Housing and Urban Affairs
(4) Ministry of Home Affairs

Options :

92090691653. 1
92090691654. 2
92090691655. 3
92090691656. 4

Question Number : 15 Question Id : 92090623191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3 Aam Aadmi Party (4) Apna Dal
Options :

92090691657. 1
92090691658. 2
92090691659. 3
92090691660. 4



Question Number : 15 Question Id : 92090623191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3) Aam Aadmi Party (4) Apna Dal
Options :

92090691657. 1
92090691658. 2
92090691659. 3
92090691660. 4

Question Number : 15 Question Id : 92090623191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3) Aam Aadmi Party (4) Apna Dal
Options :

92090691657. 1
92090691658. 2
92090691659. 3
92090691660. 4

Question Number : 16 Question Id : 92090623192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row is 26th and
the position of Vineeta from the right side of the row is 23, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090691661. 1
92090691662. 2
92090691663. 3
92090691664. 4



Question Number : 16 Question Id : 92090623192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row is 26th and
the position of Vineeta from the right side of the row is 237, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090691661. 1
92090691662. 2
92090691663. 3
92090691664. 4

Question Number : 16 Question Id : 92090623192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row is 26th and
the position of Vineeta from the right side of the row is 237, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49

Options :

92090691661. 1
92090691662. 2
92090691663. 3
92090691664. 4

Question Number : 17 Question Id : 92090623193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E) 942

Choose the correct answer from the options given below :

(1) (A), (E), (B). (C). (D)
(2)  (C), (B), (D), (A). (C)
3 (A, (B), D), (E), (C)
(4)  (E), (A), (C), (B). (D)

Options :

92090691665. 1
92090691666. 2
92090691667. 3
92090691668. 4

Question Number : 17 Question Id : 92090623193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E) 942

Choose the correct answer from the options given below :

(1) (A), (E), (B), (C). (D)
(2)  (C). B), (D), A). (C)
3 (A, (B), (D), (E), (C)
(1) (E), (A), (C), (B), (D)

Options :
92090691665. 1
92090691666. 2



92090691667. 3
92090691668. 4

Question Number : 17 Question Id : 92090623193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E) 942

Choose the correct answer from the options given below :

(1) (A (E), (B). (C), (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, (B). (D). (E). (C)
(1) (E), (A), (C), (B), (D)

Options :

92090691665. 1
92090691666. 2
92090691667. 3
92090691668. 4

Question Number : 18 Question Id : 92090623194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit. Bipin, Chandan, Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
is on the left end of the beach. Chandan is on the second position from the right. Amit
is to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who is in
the centre?

(1) Dinesh (2) Chandan
(3) Amit {(4) Bipin

Options :

92090691669. 1
92090691670. 2
92090691671. 3
92090691672. 4



Question Number : 18 Question Id : 92090623194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit. Bipin, Chandan, Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
is on the left end of the beach. Chandan is on the second position from the right. Amit
is to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who is in
the centre?

(1) Dinesh {(2) Chandan
(3) Amit (4) Bipin

Options :

92090691669. 1
92090691670. 2
92090691671. 3
92090691672. 4

Question Number : 18 Question Id : 92090623194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit. Bipin, Chandan, Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
is on the left end of the beach. Chandan is on the second position from the right. Amit
is to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who is in
the centre?

(1) Dinesh {(2) Chandan
(3) Amit (4) Bipin

Options :

92090691669. 1
92090691670. 2
92090691671. 3
92090691672. 4

Question Number : 19 Question Id : 92090623195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”, How is Nita related to the boy?

(1) Sister (2) Niece

(3) Mother {(4) Aunt

Options :



92090691673. 1
92090691674. 2
92090691675. 3
92090691676. 4

Question Number : 19 Question Id : 92090623195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”, How is Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090691673. 1
92090691674. 2
92090691675. 3
92090691676. 4

Question Number : 19 Question Id : 92090623195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How is Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090691673. 1
92090691674. 2
92090691675. 3
92090691676. 4

Question Number : 20 Question Id : 92090623196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 ._.. Which one of the following number should
come next in the series?
(1) 16 2y 17
(3) 18 (4) 19
Options :

92090691677. 1
92090691678. 2



92090691679. 3
92090691680. 4

Question Number : 20 Question Id : 92090623196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 ._.. Which one of the following number should
come next in the series?

(1) 16 2y 17
(3) 18 (4) 19
Options :

92090691677. 1
92090691678. 2
92090691679. 3
92090691680. 4

Question Number : 20 Question Id : 92090623196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 ... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19

Options :

92090691677. 1
92090691678. 2
92090691679. 3
92090691680. 4

Question Number : 21 Question Id : 92090623197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:

(1) 16% % (2) 33% %
@ 121 % (1) 66~ %
7 3

Options :
92090691681. 1



92090691682. 2
92090691683. 3
92090691684. 4

Question Number : 21 Question Id : 92090623197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:

(1) 1~E’:E % (2) 33% %o

% (4) GG% %

Lt

(3) 1

[ B]
b ] —

Options :

92090691681.
92090691682.
92090691683.
92090691684.

A W N =

Question Number : 21 Question Id : 92090623197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:

(1) 16% % (2) 33l %o

1

(3) 12— % (4) GGE %

1
2
Options :
92090691681.
92090691682.

92090691683.
92090691684.

AW NO =

Question Number : 22 Question Id : 92090623198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A can do a work in 20 days. B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15

(1) 15 days (2) 12 days
(3) 18 days (4) 9 days
Options :

92090691685. 1
92090691686. 2
92090691687. 3
92090691688. 4

Question Number : 22 Question Id : 92090623198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A can do a work in 20 days, B can do in 30 days and C ean do in 60 days. If A 15 helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9 days
Options :

92090691685. 1
92090691686. 2
92090691687. 3
92090691688. 4

Question Number : 22 Question Id : 92090623198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A can do a work in 20 days. B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15

(1) 15 days (2) 12days
(3) 18 days (4) 9days
Options :

92090691685. 1
92090691686. 2
92090691687. 3
92090691688. 4



Question Number : 23 Question Id : 92090623199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word N AZI B A B A D can be
arranged is:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090691689. 1
92090691690. 2
92090691691. 3
92090691692. 4

Question Number : 23 Question Id : 92090623199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ‘N A ZI1I B A B A D can be
arranged is:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090691689. 1
92090691690. 2
92090691691. 3
92090691692. 4

Question Number : 23 Question Id : 92090623199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word N AZI B A B A D can be
arranged is:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090691689. 1
92090691690. 2
92090691691. 3
92090691692. 4

Question Number : 24 Question Id : 92090623200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 1z (2) 31
(3) 11 (4) 21
Options :

92090691693. 1
92090691694. 2
92090691695. 3
92090691696. 4

Question Number : 24 Question Id : 92090623200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090691693. 1
92090691694. 2
92090691695. 3
92090691696. 4

Question Number : 24 Question Id : 92090623200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090691693. 1
92090691694. 2
92090691695. 3
92090691696. 4

Question Number : 25 Question Id : 92090623201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List 1 with Last 11 -

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B*, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List I List I1
(A) Minimum number of student get grade A (I) 6
(B) Minimum number of student get grade B* (1) 1
(C) Minimum number of student get grade B (I 3
(D) Minimum number of student get grade B (IVy 8

Choose the correct answer from the options given below:

(1)  (A-D, B)-(AV), (C)-AD), (D)-(1D
(2)  (A-aV), (B)-(ID), (C)-(ID), (D)D)
(3)  (A)-(II), (B)-(I), (C)-(IV), (D)-(II)
(4)  (A)-AD, (B)-(ID), (C)-(D), (D)-(1V)

Options :

92090691697. 1
92090691698. 2
92090691699. 3
92090691700. 4

Question Number : 25 Question Id : 92090623201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with Last 11 :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B*, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List I List 11
(A) Minimum number of student get grade A (D) 6
(B) Minimum number of student get grade B* (11} |
(C) Minimum number of student get prade B (I 3
(D) Minimum number of student get grade B (IVy 8

Choose the correct answer from the options given below:

(1)  (A-D, B)-(AV), (O)-1D), (D)-(1D
(2)  (A-aV), (B)-(ID), (C)-(ID), (D)D)
(3)  (A)-I), (B)-(D). (C)-(AV), (D)-(ID)
(4) (AL, (B)-(I1D), (C)-(I), (D)-AV)



Options :

92090691697. 1
92090691698. 2
92090691699. 3
92090691700. 4

Question Number : 25 Question Id : 92090623201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mateh List [ with Last [T :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B*, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List I List 11
(A) Minimum number of student get grade A (1) 6
(B) Minimum number of student get grade B* (I 4
(C) Minimum number of student get prade B (I 3
(D) Minimum number of student get grade B (IVy 8

Choose the correct answer from the options given below:

(1) (-, (B)-(IV), (C)-(ID), (D)-(111)
(2)  (A)-IV), (B)-(I), (C)-(I11). (D)-(I)
(3) (A)-(I11), (B)-(I), (C)-(IV), (D)-(1I)
(4) (A, (B)-(IID), (C)-(D), (D)-(IV)

Options :

92090691697. 1

92090691698. 2

92090691699. 3
92090691700. 4

Part B: Manipuri

Section Id : 920906460
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 920906742
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090623202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TATE RREMf COof COUTER IFEF TKAS Shefmsf —

. messt womI efi
2. wmZwrst comeI of |
3. Cunfms’m EFET |E ©f )

4. mWrdPe weRw ol
S TR <o e THEH @3 ST -

l. ;1\.133 C“ﬂaf‘fﬁl
2. CRETGINA! CEITATE (4 |
3. Ao FE EE A

4. CNREATSH YIS 4|

Options :

92090691701. 1
92090691702. 2
92090691703. 3
92090691704. 4

Question Number : 26 Question Id : 92090623202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TAETE RRFMf COof COUER IFEF T%AS Shefmsf —

. messt wmmw3 efi
2. wmZrrst c*omeI of |
3. Cwsfoxm EFST BF ef i
4. wrdwe zew of i
BigeTd] TOH <fALoe ™ THFN GFH4] L@ -
1. STEE BT |
2. CRRTETNGR IR |

3. ST wEE EE |
4. CABLACSH YLEF |

Options :

92090691701. 1
92090691702. 2
92090691703. 3
92090691704. 4

Question Number : 26 Question Id : 92090623202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TAETE RRFMf COof COUER IFEF T%AS Shefmsf —

. messt wmmw3 efi
2. wmZrrst c*omeI of |
3. Cwsfoxm EFST BF ef i

4. mrdRe neRw ol
BigeTd] TOH <fALoe ™ THFN GFH4] L@ -

1. STEE BT |

2. CRRTETNGR IR |
3. wefrere FEE FE M)
4. CREATSH YIS [

Options :
92090691701. 1



92090691702. 2
92090691703. 3
92090691704. 4

Question Number : 27 Question Id : 92090623203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2% #AGEM! IKEMT TrE MeC OFME keI OUealfds —

. 7#5a’ 7% OS5

2. R&EPI orsi

3. Tpaf OTsl

4. wER® ODEN

12 SANSTN FIBLAN CATIH] (T #E5i] ACAET SFGnen] —

1. 2504 o9 %93 |
2. FEE #EE |
3. a8 =% |

4, 4TI #ET |

Options :

92090691705. 1
92090691706. 2
92090691707. 3
92090691708. 4

Question Number : 27 Question Id : 92090623203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2% AAFEM! SKEMT TR MeT OrME keI Ommaldn —

. 75a’ 7% OmS

RE*I WS I

Tral Oms |

4. ®ER ODEI

I3

lad

13 TSI ATLAA CTTIA (] *Foe FH1ET SFfaneq —

1. 2B 0 *e3 |
2. EEHFT
3. @fi =33 |

4. CHTHIEET |

Options :

92090691705. 1
92090691706. 2
92090691707. 3
92090691708. 4

Question Number : 27 Question Id : 92090623203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2% AoFEMf SEENF TerR M OUFME kePI OTEelfdn —

. 5o’ A% Ol

RE*IT WS I

Tref Oms |

4. wER OTKI

[

lsd

13 TSI ABLAT CTTIA (] #Foe FH1ET SFTaneq —

1. C2PCA TS |
2. FFEAHRL

3. 8 93|

4. CUTPIEET |

Options :



92090691705. 1
92090691706. 2
92090691707. 3
92090691708. 4

Question Number : 28 Question Id : 92090623204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ofma’s KAT ATt 25eind’ ' AwIEal —

l. mosesefi

2. mmepseri

3. mrwwsel
4. wanermsefi

NeTRg T2 Tl SR (AT (2R -

1. segrEifa
2. s |
3. HEmEmA |

4, BEEGEEAIE |

Options :

92090691709. 1
92090691710. 2
92090691711. 3
92090691712. 4

Question Number : 28 Question Id : 92090623204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ofUs’s XAT AT 25eind’ |’ AwIEal —

l. mosesefi

2. wmerscel

3. MRWEBCLI

4. warermzefi
WeTaIg 321 M FSMeTal (Sl (2

. s

2. e |

3. oA |

4, wEGEEATH |
Options :

92090691709. 1
92090691710. 2
92090691711. 3
92090691712. 4

Question Number : 28 Question Id : 92090623204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ofUs’s XAT AT 25eind’ |’ AwIEal —

l. mosesefi

2. wmegEer

3. mrwrsel
4. wanatmsefi

g 2 2T SR (T (2IRET —

I S

2. s |

3. swEi |

4. v |
Options :

92090691709. 1
92090691710. 2
92090691711. 3
92090691712. 4

Question Number : 29 Question Id : 92090623205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EefER e Bey efuR4RIE RArRl -

1. ¢80
2. 9gen
3. 9ge2
4. ggee
Flereet (oAt F4 feree e 521 -
1. sxbo
2. 3503
3. ShUA

4, Subb



Options :

92090691713. 1
92090691714. 2
92090691715. 3
92090691716. 4

Question Number : 29 Question Id : 92090623205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ESER WS WEE SfOR4RIE RATHR’ -

1. seg0
2. gEER
3. 9ge2
4. ggee
Sierre! CoET F4 feregefaa 65l -
1. Sado
2. b3
3. Shu8
4. by
Options :

92090691713. 1
92090691714. 2
92090691715. 3
92090691716. 4

Question Number : 29 Question Id : 92090623205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



mefmn e mes fUR4RIs XAlal -

1. sg%0
2. sgen
3. o¥Ee
4. ogee
Flerere] A $4 erexief&@] 551w -
1. Sabo
2. 3HLY
3. ShL8
4. Lhbd
Options :

92090691713. 1
92090691714. 2
92090691715. 3
92090691716. 4

Question Number : 30 Question Id : 92090623206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘sl FoEF TF 5aRem’ AKE Orcersofont »fe wofm kel Joesf —

. »fRm
2. mafmes
3. #mf
4. or3 Bod
i (g e g Zral SECarafae s fow SEs 9 Coam -
1. feame
2. f&tsb
3. af®
4, A FelE
Options :

92090691717. 1



92090691718. 2
92090691719. 3
92090691720. 4

Question Number : 30 Question Id : 92090623206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘sl 3°CF [FE 50R0’ AKE Orcarsofont »fF ol ket fosaf —

. #fRm

2. mefmes
3. =of

4. omt3 Bnd

T (W 9% gWET DITE] *EEERRS fow e 911 (5T -
1. feame
2. f&teb
4, #CAHE FelE

Options :

92090691717. 1
92090691718. 2
92090691719. 3
92090691720. 4

Question Number : 30 Question Id : 92090623206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘sl FoEF TF 5aRem’ AKE Orcersofont »fe wofm kel Joesf —

1. #»8m
2. mafmes
3. »mf

4. or3 Boe
% (I eF Fwew SiEAl SEearated fow sifssi w9 (e -

1. fZane
2. @b
3. e
4. el Fele

Options :

92090691717. 1
92090691718. 2
92090691719. 3
92090691720. 4

Question Number : 31 Question Id : 92090623207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hesml TATE RABER FRFE SIR(EIE —

|. mAWSf ARAM RO

2. RARCE ARPW RKC I

3. mAefof Asem wT I

4. RAMEHS ABEW T I

SRS R TTFRET AT I -

l. w2 ZrEasl Ge e |

2. NIAAHI IR =LA |

3. i g el |

4. wEefes ZrEgs 96l |

Options :
92090691721. 1



92090691722. 2
92090691723. 3
92090691724. 4

Question Number : 31 Question Id : 92090623207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|l TATE RABER FRIE 3IRIEIE —

l. mAWSH ABEM 301

2. RARCE ARPW XTI

3. mAxfof Anem XTI

4. RAMEHS ARG WU I
CIHSG! GGl HZIFET 2T I —

1, SEE ZT9ae) 96T |

2. AITEE STEET $e T |
3. SEiE o ety |

4. EefeT oTaE Set |

Options :

92090691721. 1
92090691722. 2
92090691723. 3
92090691724. 4

Question Number : 31 Question Id : 92090623207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hesml TATE RABER FRFE SIR(EIE —

|. mAWSf ARAM RO

2. RARCE ARPW RKC I

3. mAefof Asem wT I

4. RAMEHS ABEW T I

S| SEHAl FZIFHE] 320 I —

l. w2 ZrEasl Ge e |

2. NIAAHI IR =LA |

3. i g el |

4. wEefes ZrEgs 96l |

Options :

92090691721. 1
92090691722. 2
92090691723. 3
92090691724. 4

Question Number : 32 Question Id : 92090623208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ReHlf KSAC AL gnmaen’ asefre! Ase s’ —

1. weyRasst
2. BHERRIROO
3. B ncEe

4. oun Cope

TSN 52 =41 A0 a2t =Tl ey —

1. SR
2. TR
3. THEER
4. «“rfem™E

Options :



92090691725. 1
92090691726. 2
92090691727. 3
92090691728. 4

Question Number : 32 Question Id : 92090623208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ReEmf FAT ALE nBacn’ Eafre! A%t STEH —

. wosagset
2. HERRMRDO
3. d@zndde
4. omr Oope

TSN S5 T4l A0 S a5l (FwEm —

1. SERT
2. FHETASICA!
4. H{rsmE

Options :

92090691725. 1
92090691726. 2
92090691727. 3
92090691728. 4

Question Number : 32 Question Id : 92090623208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ReHlf KSAC AL gnmaen’ asefre! Ase s’ —

1. wosass
2. BERRMROC
3. dzndde
4. omr OOme

TR 32 a1 A A2 Il (T —

1. SERT
2. FHETASICA!
3. TREEE
4. H{rsmE

Options :

92090691725. 1
92090691726. 2
92090691727. 3
92090691728. 4

Question Number : 33 Question Id : 92090623209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘EFg TE RORAT TEATHET SfBaRe’ AKC RCEal —

1. 73 orsmd af
2. amf 53 Sfeea® ef i
3. xfow @xese ofi

4. of m*zf wxRf=f e

FME SF CAA WS F [Pbabd” STEAT HigaEm —

1. cze s
2. g a1 farerel
3. g M
4. B celfe wfafe



Options :

92090691729. 1
92090691730. 2
92090691731. 3
92090691732. 4

Question Number : 33 Question Id : 92090623209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘EFg TE RORAT TEATHET SfBaRe’ AKC RCEal —

. 73 cpsfmd efi
2. amf 53 Sfeea® ef i
3. xfow @xese ofi

4. of m*zf wxRf=f e

FME GF (N TGS Dera64" araT gl —

1. cze s
2. el fasterf
3. ByEEnE
4. B celfe wfafe

Options :

92090691729. 1
92090691730. 2
92090691731. 3
92090691732. 4

Question Number : 33 Question Id : 92090623209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘Bme T paet TEgfHE efpeeRe’ ABC ResAl —

1. 73 oenfmd et
2. ammf R Tt ef i
3. wfgw axese of|

4. oof @zl wsfrf ofi

GG ST (UM SFF o9 2181 igdf —

1. cge cafam
2. gl aifster
3. e
4. T celfg =fmfe

Options :

92090691729. 1
92090691730. 2
92090691731. 3
92090691732. 4

Question Number : 34 Question Id : 92090623210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“@rIefenf aPReRfofcre BINCR, orefmfe EfFRmf T Tha, BfsOBfe E28mf meef WRERe” A%l sal—

1. ®&% @e 38 €l
2. Smmlmrmer frcme of i
3. c*mzw 2*BXERe of i

4. 8f weo ScERe Tl

“CRTERG N CATNTEE! Fgw], RN il el Sl EOAS I TEad #uie e 3wl g -

1. 1% =9 |
2. oSS WA o |
3. (EEE EEE o |

4., ManaagaE™ |



Options :

92090691733. 1
92090691734. 2
92090691735. 3
92090691736. 4

Question Number : 34 Question Id : 92090623210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“EPIefzmf aPRENIOfZRE BIMER, (refmfe EfFEm Zng TRE, BiSOBIC ECEM e TRERC” ARRIEH—

. @x de 38 €l
2. SRITmE #ARcEe Cf
3. 2*mzw DEXEREe of

4. 3 wo SCERE T

e CANTEHET FPam, RN T Gie ST, EhA! TEa #{Eife e 2qul-r 2rafEh -

l. =% = 3E |
2. CoTareIEEs wirsmd o |
3. (F9GH U6 + |

4, FMeAaeeaE™|

Options :

92090691733. 1
92090691734. 2
92090691735. 3
92090691736. 4

Question Number : 34 Question Id : 92090623210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“@rIefenf aPReRfofcre BINCR, orefmfe EfFRmf T Tha, BfsOBfe E28mf meef WRERe” A%l sal—

1. ®&% @e 38 €l
2. Smmlmrmer frcme of i
3. c*mzw 2*BXERe of i

4. 8f weo ScERe Tl

“CETEHEEN ATS G SR, CARN e Gt o, BT Taaa o{eid e 3qvia grafai -

1. 1% =9 |
2. oSS WA o |
3. (EEE EEE o |

4, MaAgEeaE|

Options :

92090691733. 1
92090691734. 2
92090691735. 3
92090691736. 4

Question Number : 35 Question Id : 92090623211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“secraaci<Bl TPEREEE'R CTONRen Rrs-saf 570 TROD Redomf kRl Bef 1™ AR Ea -

. R*EAUIF WalPEemw of i
2. 2mer 2RReERg ofi
3. ZRICTWE ke ofi

4. CORKI°F #wsf of I
SHLTRGEF] TR CAHEN CHFrae) Fe Soe CArEred s oifg | grafe -

1. CoEseces fEmgs = |
2. CEES EEvE M |

3. (OIS AT o |
4, CIETETYT CSIA M |



Options :

92090691737. 1
92090691738. 2
92090691739. 3
92090691740. 4

Question Number : 35 Question Id : 92090623211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“seecaacisBf STPRREES'R O°TONRer! kIrssEf 50 TROD Rednm! kil Bef 1” A5 sl -

. R*HAUIF WelsPEes ofi
2. 2mer rReRg of i
3. CRICTWE ffce ofi

4. CURESF BFsf Cf i
“MTAHIGTS] SIom Al TGN (a9 S Hode Sroge curgred s oy | zrafasi -

1. cIEaneEs fHmEs )
2. (FUGE TUFH # |
3. (OIS RICAmE |

4, FESEEE eI

Options :

92090691737. 1
92090691738. 2
92090691739. 3
92090691740. 4

Question Number : 35 Question Id : 92090623211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“meeegacisEl NPRRCEA'R CTOMREN Fersesa 5xe0 TROD edonf kel Sef 1” A%RI el -

1. R*HaUIow melPses of i
2. omer 2rReRg ofi
3. FmrtmmeE AwcmEe ofi

4., CURKI°E FEE’ Cf il
“HTTRIGT] SR W] (AR CHPrade) e See CArged s ofs | grafe -

1. cEaee fEmEs A
2. (EES WUEH o |

3. (AN wieamE o |
4, AR COE |

Options :

92090691737. 1
92090691738. 2
92090691739. 3
92090691740. 4

Question Number : 36 Question Id : 92090623212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2ok o 23 semmamt URAo ocent EATNSRNT AERTM RRER MERTE ke ofost —

1. sipnxesy of i
2. mEnfecotms cf il

3. mafscfiz of

4. marege ofi

IS ST LR CIHET] SHTH CHon WESast Zrw il Towwl AWE=T t9te Ferdifr

1. SEHE
2. s@EPEE
3. sifqafears =i

4, WEm |
Options :



92090691741. 1
92090691742. 2
92090691743. 3
92090691744. 4

Question Number : 36 Question Id : 92090623212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2oms ORI 23 seomImt MR ocenf RANNSRNT FERTM kRIS MERE ks ofodst —

1. sipnxese of i
2. mEafecfos afi
3. mefsefiz of

4. marege cfi

HIHS #T5ET UG (] STHAH T NB[S MG 0w es Tosv] #RET (a0s Herd —

1. SEHE
2. oBEE FI
3. sifaafeme

4, pmi
Options :
92090691741. 1
92090691742. 2
92090691743. 3
92090691744. 4

Question Number : 36 Question Id : 92090623212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2om*s OmrPI 23 seomImt NRRo ocent RANNERNT AERTM RRER MERTE Rt ofodst —

1. sppxrese of i
2. mEnfecfms cfi
3. mefsefic of

4. marege cfi

IHIS *TSTET LR (T SHWIH oo NETSRGa arq I ToaqT AmRET (90s Werdifd —

1. SEibE
2. siEetnE [
3. sifaafage f

4, @i
Options :
92090691741. 1
92090691742. 2
92090691743. 3
92090691744. 4

Question Number : 37 Question Id : 92090623213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“@ Sgmime | Ol 35 BSTeTs AN, Ty I” AR%I Rl —

1. @arasm e
2. maerd ofi
3. sfe*mefu

4. Ry ol

«& Gefrel | Fef U SIGYIF S SIT9T A0S [ T —

1. sfemEAE |
2. wWifEsE

3. e

4, A |

Options :



92090691745. 1
92090691746. 2
92090691747. 3
92090691748. 4

Question Number : 37 Question Id : 92090623213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“0 Fgwime | Omf BT RESeTE ABSMT T 1” ARR 8wl —

1. @efso ot
2. razfd of
3. ®Bfe*m el
4. mw3 ol

“& GRS | T T STEYIFS T A0a [ TEEEm —

1. e |
2. wiEeE
3. fEms
4, A |

Options :

92090691745. 1
92090691746. 2
92090691747. 3
92090691748. 4

Question Number : 37 Question Id : 92090623213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“0 segsime ) Omf 87 BEsers AREmE oy l” AERIERl —

1. ®afsm ofi
2. mIer| ofi
3. sfem el

4. R ol

«& GefRTst | Fefl T SICYEF S TS A0E 1 TRE —

1, FmE M
2. WiEwE
3. faemwf
4, S|

Options :

92090691745. 1
92090691746. 2
92090691747. 3
92090691748. 4

Question Number : 38 Question Id : 92090623214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“PRRE TROD RANE Clod’ ox aoomf Refef, kIREFRT iy 1” ARRIsal —

1. wtdws mromes i
2. ofts @etouresee! i
3. ®REfOC merk Oomete! i

4. TRBM ®e8f CfIl

A T2 NZTOIRS 2@ Sor Seedl 9191, Mowd Ara r 2rafef -

1. fogrs e o |
2. e T [
3. A
4. CHA @A

Options :



92090691749. 1
92090691750. 2
92090691751. 3
92090691752. 4

Question Number : 38 Question Id : 92090623214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“PRRE TROD RANS Clor’ o aoomf Refef, RIRERT i 1” ARRIsal —

1. wstdws mreymras i
2. oftr @etouresee! i
3. mRCfoC merk oomete! i

4. TwBf ®e8f ol

SIS S SETSTAS WL ool Sied i, Mo A0g 1 2rafEf -

1. fers B |
2. e e [ |
3. seErEmEfE e
4. (NI @A |

Options :

92090691749. 1
92090691750. 2
92090691751. 3
92090691752. 4

Question Number : 38 Question Id : 92090623214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“PRRE TROD RANE Clod’ ox aoomf Refef, kIREFRT iy 1” ARRIsal —

1. wtdws mromes i
2. ofts @etouresee! i
3. ®REfOC merk Oomete! i

4. TRBM ®e8f CfIl

A T2 NZTOIRS 2@ Sor Seedl 9191, Mowd Ara r 2rafef -

1. fogrs e o |
2. e T [
3. A
4. CHA @A

Options :

92090691749. 1
92090691750. 2
92090691751. 3
92090691752. 4

Question Number : 39 Question Id : 92090623215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dRRBl WA ABW ReEH! CiOd ™l ROSREFR —

1. wefosfzef
2. wmrosfsEf
3. merfoyEfsCr

4. mAQBrEClY

(o7 e st e (HLrdA SIS Tl -

2. ST |
A |
4. e |

Options :

lad



92090691753. 1
92090691754. 2
92090691755. 3
92090691756. 4

Question Number : 39 Question Id : 92090623215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dRRBl WAT ABON RCER CIOLMl ROSREFR —

1. wefosfzefi
2. wHErOEfBTl
3. merfoyEfBCL

4. mAQBrEClN

CETIY T S2e ZrasT e LA SIS S —

ol
2. ST |
3. wfEHaEE |
4. FeFEEM |
Options :

92090691753. 1
92090691754. 2
92090691755. 3
92090691756. 4

Question Number : 39 Question Id : 92090623215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dRRBl WAT ABON RCER CIOLMl ROSREFR —

1. wefosfzefi
2. warosfsEfn
3. merfoyBTBCM

4. mAQBrEClN

CEToT[) S SIS WM (ol LA FAG 5L

2. ST |
FEHA |
4. FeFEEM |

Options :

92090691753. 1
92090691754. 2
92090691755. 3
92090691756. 4

lad

Question Number : 40 Question Id : 92090623216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mk EFRD, X°I7°0, CORSN RECE ROTHL -

. mezwrade efi
2. cEmf4aE efi

3. deeree o

4. mA'Ba®3 vl

*HD TG, (e, (e Sl e -

. YrEecE= [
2. SraerE |
3. CETEETE

4. TACEECEE



Options :

92090691757. 1
92090691758. 2
92090691759. 3
92090691760. 4

Question Number : 40 Question Id : 92090623216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% EFRD, RIW0, C°ORSN RECE ROMTT -

. nezma*e ol
2. EEmRMf4EeE el
3. Zorrztz ot

4. RaBa®3 Cli

*HD TG, (FEruie, (Aged Sl sie -

l. I &
2. &etE )
3. CoTCewTE )
4. CACIRCER

Options :

92090691757. 1
92090691758. 2
92090691759. 3
92090691760. 4

Question Number : 40 Question Id : 92090623216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mk EFRD, X°I7°0, CORSN RECE ROTHL -

. mezwrade efi
2. cEmf4aE efi

3. deeree o

4. mA'Ba®3 vl

*HD TG, (e, (e Sl e -

=

YU
2. S )
3. CoTCAwTET o)
4, CACIRCE I

Options :

92090691757. 1
92090691758. 2
92090691759. 3
92090691760. 4

Question Number : 41 Question Id : 92090623217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARIRT MISFE CrOZM ROTOR -

1. sgefu
2. smCfu
3. seefn
4. sxefi
SfAbFe AT Wera wAeT -
. s
2. yof
3. M
4, M

Options :



92090691761. 1
92090691762. 2
92090691763. 3
92090691764. 4

Question Number : 41 Question Id : 92090623217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARIRTT MISKHE ClOa ™! mofms! -

1. ssefn
2. sl
3. geafn
4. gxmefu
Sfupeel #iErE AT woeh -
. @
2. yof
3. M
4, »n#=
Options :

92090691761. 1
92090691762. 2
92090691763. 3
92090691764. 4

Question Number : 41 Question Id : 92090623217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR MI2EE cfmn gofost -

1. ssefn

2. swgfu

3. seefn

4. am el
sfabea] Al s e -

. s

2. yof

3. weF

4., 3fE
Options :

92090691761. 1
92090691762. 2
92090691763. 3
92090691764. 4

Question Number : 42 Question Id : 92090623218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Resildll B°IABC MISHE RATORM RATRE —

1. 9887 -9R.9¢
2. 920 - $R.%0
3. SEF0 - SRFF

4. SmFF -SR%0

Cufreg Comiaanl AT Y2 62H M -

1. 98- >9¢d
2. D980 - yddo
3. d9¢o - 2ot¢
4. 298¢ - >9Lo

Options :



92090691765. 1
92090691766. 2
92090691767. 3
92090691768. 4

Question Number : 42 Question Id : 92090623218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Resildll B°IABC MISHE RATORM RATRE —

1. Shfa® -ShFF
2. eR.20 - SR%0
3. SRS0 - CREF

4. SL.FF¢ -SRE0

(a2 COFLawI AT Y2 b2IbIM

1. do0¢-yoet
2. Y980 ->9@o
3. Yoo - doet
4. Y9CE - d9bo

Options :

92090691765. 1
92090691766. 2
92090691767. 3
92090691768. 4

Question Number : 42 Question Id : 92090623218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Resildll B°IABC MISHE RATORM RATRE —

1. 9887 -9R.9¢
2. 920 - $R.%0
3. SEF0 - SRFF

4. SmFF -SR%0

Cufreg Comiaanl AT Y2 62H M -

1. 98- >9¢d
2. D980 - yddo
3. d9¢o - 2ot¢
4. 29t - >9bo

Options :

92090691765. 1
92090691766. 2
92090691767. 3
92090691768. 4

Question Number : 43 Question Id : 92090623219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2e*3, dag*3, RO Re*Inl RECE ROTNT —
. mAOM Rer
2. 3mf mern
3. xfomf mew

4. Iml maw

I, SCI s
2. (o wE
3. Bl wEw
4. AP S

Options :



92090691769. 1
92090691770. 2
92090691771. 3
92090691772. 4

Question Number : 43 Question Id : 92090623219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2e*3, dag*3, RO Re*Inl RECE ROTNT —

1. mAON e
2. Smf merr
3. wfmmf mos

4. Iml maw

o W | R e DT i R R T R T

1. SCEPEN S
2. Co wEw
3. Bled
4, A g

Options :

92090691769. 1
92090691770. 2
92090691771. 3
92090691772. 4

Question Number : 43 Question Id : 92090623219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2e*3, dag*3, RO Re*Inl RECE ROTNT —

1. mAOR o
2. Zmf merr
3. xfomf mew

4. Iml maw

I, SCI s
2. (o wE
3. Bl wEw
4. AP S

Options :

92090691769. 1
92090691770. 2
92090691771. 3
92090691772. 4

Question Number : 44 Question Id : 92090623220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THEEM KR BSem FAT ACC Hans anefmss’ —

1. 2maz cfi
2. Zoéwm ot
3. Afze #tevg el

4. olksf 2xme of i

w245 WAL WeFel 22 T 3991 FafEE —

l. =eEm |

2, (FEWE

3. frEafae |
4, A I |

Options :



92090691773. 1
92090691774. 2
92090691775. 3
92090691776. 4

Question Number : 44 Question Id : 92090623220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THEEMT RRiD RSEN FAT ATC BaRs 2nafmrsf —

1. 2ma*e ot
2. Zovwm ot
3. Afze #tavg ol

4. olksf 2sme of i

wEEe We TheFel 3o 2l 39 FEEE -

1. ECEm W |
2. (AEWE |
3. Beafael|

4, AL TG o |

Options :

92090691773. 1
92090691774. 2
92090691775. 3
92090691776. 4

Question Number : 44 Question Id : 92090623220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THEEM KR BSem FAT ACC Hans anefmss’ —

1. 2maz cfi
2. Zoéwm ot
3. Afze #tevg el

4. olksf 2xme of i

w245 WAL WeFel 22 T 3991 FafEE —

l. =eEm |

2, (FEWE

3. frEafae |
4, A I |

Options :

92090691773. 1
92090691774. 2
92090691775. 3
92090691776. 4

Question Number : 45 Question Id : 92090623221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RADER RRCSET OFMAT 35 2nefrs’ —

1. derm
2. mEnfenfDs C*oms
3. 2m2e

4. oCmelm

T JAGISH FH0E (O] o2 -

1. TeEm
2. SR HE
3. TR

4, FEEE

Options :



92090691777. 1
92090691778. 2
92090691779. 3
92090691780. 4

Question Number : 45 Question Id : 92090623221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N7AWEE REZET OFMEDT 75 nefmsf —

. derm

2. wmEafeofos Coms
3. 2mdm

4. olmefw

T GG FPE Cord] T2l -

2. ST Rl

3. =T
4. FEEE
Options :

92090691777. 1
92090691778. 2
92090691779. 3
92090691780. 4

Question Number : 45 Question Id : 92090623221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NAWEF REZET OFMEDT 75 nefmsf —

1. dorm
2. mEnfemins C*oms
3. 2dmSe

4. oCrRelm

FIC229 TGIEH] F M (O] T3fHe -

1. &Ew
2. SiEEHE FIHE
3. T

4. ANERE

Options :

92090691777. 1
92090691778. 2
92090691779. 3
92090691780. 4

Question Number : 46 Question Id : 92090623222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RABRETE RyAM HIePTM! COOf-COT TR REEF TKF 25aTTy:

l. %75 de*m Mes
2. nAlOFE
3. AP dFE

4. 2om*s om*g 3§

TG TSR FLLAH T8 7% 634 MafafT -

1. 523 ol s
2. «f5ed
3. WA e F

4. SCHZ #TAE 4[T
Options :



92090691781. 1
92090691782. 2
92090691783. 3
92090691784. 4

Question Number : 46 Question Id : 92090623222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RABRTE RIAM HEePTn! COON-CIT TR RFEF TKF 25a Tyl

l. %7k de*m Mes
2. RwAlAFE
3. ORCPT JOFE

4. 2om*s om3 3

TR TR T 2321 T %41 2T —

. 523 coal omEr
2. WfEed

3. eI e

4, SAICEER T 4R

Options :

92090691781. 1
92090691782. 2
92090691783. 3
92090691784. 4

Question Number : 46 Question Id : 92090623222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RRBRTE RIAM HoePTm! COOf-COTER RFEF TFF 25afIy:

l. ®7a% de*m Mes

2. nAlOEE

3. ORCPT OFE

4. 2om*s om*3 3§

TGS TSR FLLACT A2 T 639] T2 —

. 523 CoCale «mE0
2. g
3. WA T

4. ST AT AT

Options :

92090691781. 1
92090691782. 2
92090691783. 3
92090691784. 4

Question Number : 47 Question Id : 92090623223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT ARQW IRABE RO I RERl AREM RCFH -

. »UrRm
2. oOmwE
3. ROTH
4. mATRMD

21T AN <TG Yol | S Zraasil ey -

1. IFBRR
2. W@H
3. IEH
4, FZFHER

Options :



92090691785. 1
92090691786. 2
92090691787. 3
92090691788. 4

Question Number : 47 Question Id : 92090623223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RAT ARQW IRBE RO | RERl ABLW RCFH -

. »URo
2. OWwHE
3. ROTWE
4. mEAORD

2011 ZTEel 2979 6T | S Tl A= -

1. 5612

4, FZFOR

Options :

92090691785. 1
92090691786. 2
92090691787. 3
92090691788. 4

Question Number : 47 Question Id : 92090623223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT ARQW IRABE RO I RERl AREM RCFH -

. »UrRm
2. oOmwE
3. ROTH
4. mATRMD

21T AN <TG Yol | S Zraasil ey -

1. ZF6R
2. 9@
3. THFEE
4, ¥IFHR
Options :

92090691785. 1
92090691786. 2
92090691787. 3
92090691788. 4

Question Number : 48 Question Id : 92090623224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
woEmt cfREMEH, TOSNT Ooes, TOsMT 225 1% Ensmf Rafs’ —

1. cexme, 9g¥xN, ¢eue
2. SEBB, IERT, CENE
3. 9E®e, SENE, 2890

4. 9EBF, IERH, SENE

GTeEA STRTH, SCHER (AT, ST TSl (eI b2IM —

1. 359, 3594, a9
2, 3599, 359, 3598
3. 359k, 3395, dabeo
4, 354k, 3899, 559%

Options :



92090691789. 1
92090691790. 2
92090691791. 3
92090691792. 4

Question Number : 48 Question Id : 92090623224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ToEM! CfREME, TOSM Of°s, TOEMT 225 % Bngmt walsf —

1. sexe, cgxy, ceue
2. SEBEB, IERT, CENE
3. SE¥e, IERE, EF0

4. CENF, ERH, SENE

ST (STRTA, SR CCAIE, SR T2 (e 52

I, 5%9%, 5594, Shab
2. %94, D39, Sp9b
3. 539, 339, dabo
4. 539k, 5999, 959%

Options :

92090691789. 1
92090691790. 2
92090691791. 3
92090691792. 4

Question Number : 48 Question Id : 92090623224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TOHEMT CfREE, TOHEM Gk, THEM! 225 A% Eusmt XAPRT —

1. cexme, 9g¥xN, ¢eue
2. SEBB, IERT, CENE
3. 9E®e, SENE, 2890

4. 9EBF, IERH, SENE

SRR fSIRTHM, SCER (ATAIE, TR GaelE (eI b2 —

1. 389%, 5599, 389
2. 5599, 55, 3595
3. 359k, 3395, dabeo
4, 354k, 3899, 559%

Options :

92090691789. 1
92090691790. 2
92090691791. 3
92090691792. 4

Question Number : 49 Question Id : 92090623225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“of BeE OTRE Tl RBwwmt okt kA%s TAOOn aivm & MEse REER AIerAeiul 1” ARRIEAr —

l. ovfs clarse

2. ok CfAPEEE

3. cf &@esf
4. RWRE RoFS

TR FAICAIEY ST T (1O s SR Srife (] (o1 A1 S1gaen] 2aeemsfe 1 arafam -

1. e e
2. e
3. AR

4, TZA G

Options :



92090691793. 1
92090691794. 2
92090691795. 3
92090691796. 4

Question Number : 49 Question Id : 92090623225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“OfEEE UIEE TOf T3TEn! POl kA% TAOOR Tom d MEaC R5ER AIcrACeinal i” ARR SRl —

l. oofs clarse
2. ok CfAPEEE
3. of ®esf

4. mWE ®eES

“fR] AT S oI (AILTNN H2a! SfRes SR {of Al S139en] gaeehsfe r gnfa -

1. et fFueras

2. Fgu e

3. Ao

4, IgH w9l
Options :

92090691793. 1
92090691794. 2
92090691795. 3
92090691796. 4

Question Number : 49 Question Id : 92090623225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“of BeE OTRE Tl RBwwmt okt kA%s TAOOn aivm & MEse REER AIerAeiul 1” ARRIEAr —

l. ovfs clarse

2. ok CfAPEEE

3. cf &@esf
4. RWRE RoFS

TR FAICAIEY ST T (1O s SR Srife (] (o1 A1 S1gaen] 2aeemsfe 1 arafam -

1. e e
2. &l e
3. dima

4. I (M9

Options :

92090691793. 1
92090691794. 2
92090691795. 3
92090691796. 4

Question Number : 50 Question Id : 92090623226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“@fe, © U do #ePh, T8 BRRT E4PE RIOT°?” RE8 Refsl —
. o3 oesft
2. Om SCargessd
3. diRR AfmRfeesfof

4, KEE a3l
“foe, & A67 (F7 (AT, 8% TS Ta] NATA 77 qheq @ —

I, *Tsie =

2. gl SgEEay
3. erEryl RefmRR
4. @ T3

Options :



92090691797. 1
92090691798. 2
92090691799. 3
92090691800. 4

Question Number : 50 Question Id : 92090623226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“mfe, © U8 do #ePs, U3 BRRT E4BE RICT°?” REs Refsl —

1. o3 oes’
2. O SCerRaEs’
3. dxR AfORfeewiof

4. BBT aw
o, & weT (F7] CANAE, A9 FUAE TG4 N 77 Fed g@m -

I, refiet e

2. Hesl TagnmEln
3. eIyl EeER
4. FTEATS!

Options :

92090691797. 1
92090691798. 2
92090691799. 3
92090691800. 4

Question Number : 50 Question Id : 92090623226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“mfe, © U8 do #ePs, U3 BRRT E4BE RICT°?” REs Refsl —

1. o3 s’
2. dm scannassf
3. JdER AltoRfeesfof

4. BEE ol
“fReg, & Wgq (7] (N1, G FANF TG N 27 We N 9197 -

I, *Csie 7=

2. sl TAgHEaT
3. erEry feRmEe
4. A4S

Options :

92090691797. 1
92090691798. 2
92090691799. 3
92090691800. 4

Question Number : 51 Question Id : 92090623227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TOUER Rfe@menen! AdOnts Merns RERERN —

l. mer Xfo
2. weEenl ik
3. dOMs maem
4. AdaPF E6

SR TNCE oA &Y ATIeq Tewam

1. o b
2. HEECA
3. eIHE e

4. ewem g



Options :

92090691801. 1
92090691802. 2
92090691803. 3
92090691804. 4

Question Number : 51 Question Id : 92090623227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TOUEH RfTEBER’ AOMPE MerDR REREHRT —

l. mes xio
2. wEmRgP™ R
3. J4AmmPE meem

4. AdPF ES

w2 qy oA & T 2TAeq] TIeFdm —

1. #fra b
2. SrEE o
3. SITHE ATEe
4. eeM g
Options :

92090691801. 1
92090691802. 2
92090691803. 3
92090691804. 4

Question Number : 51 Question Id : 92090623227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TOUEE Rfememen! AOnts Merns RESRERN —

. mer xfo
2. weng*mf ik
3. 4oM*s meen

4. AIPF ES

w2 qy RTEoas & T 2Taeq] TeFam —

1. =B
2. SEei o
3. SITHE ATae
4. eeM g
Options :

92090691801. 1
92090691802. 2
92090691803. 3
92090691804. 4

Question Number : 52 Question Id : 92090623228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“oider SwPerns/ cfosfs dém mm Ewe/adn Avers J8n/ EZT MASHE A/ TRis BITwl/ B Tk wereral”
Ryl WO RABHL -

1. T8I 95
2. RfOmr da@m TREAI
3. aFmf Xerd THE I

4. meatpgE
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Options :
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92090691807. 3
92090691808. 4

Question Number : 52 Question Id : 92090623228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 52 Question Id : 92090623228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 53 Question Id : 92090623229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 53 Question Id : 92090623229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 53 Question Id : 92090623229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 54 Question Id : 92090623230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 54 Question Id : 92090623230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 54 Question Id : 92090623230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 55 Question Id : 92090623231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090691818. 2
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Question Number : 55 Question Id : 92090623231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“TRFSH! TCRTC TIR° THP ROFRS TH5e 1" ARRIEal —

l. »fze me
2. MR RR
3. weE. me. BfeeRlCf

4. %3l mesf

STl STIRT STE WS FAWe 130H 1 ZIHfEE(Y -

1. foos e
2. #ESits
3. 'ﬂ'ﬂﬁ_@ﬁfﬂﬁﬁ

4, CHIEF R



Options :
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Question Number : 55 Question Id : 92090623231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 56 Question Id : 92090623232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 56 Question Id : 92090623232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 56 Question Id : 92090623232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 57 Question Id : 92090623233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 57 Question Id : 92090623233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 57 Question Id : 92090623233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 58 Question Id : 92090623234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 58 Question Id : 92090623234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 58 Question Id : 92090623234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 59 Question Id : 92090623235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 59 Question Id : 92090623235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 59 Question Id : 92090623235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 60 Question Id : 92090623236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 60 Question Id : 92090623236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 60 Question Id : 92090623236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 61 Question Id : 92090623237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afehE EfRem Roos Tedn ©enfe ¥aC 40es Thal BTss -

1. mesmwRrnrs! @5
2. dasfmgefrem @5
3. sfOHSeOReTs WS I

4. pemewceziElelsl @i

ez Rrmedl SoenT SEIR-GRI (ST Rewa1 STl g -

1. emieRb (F13 |
2. wifafar (2 |
3. Mes (93 |
4. THOYRRDG 3 )

Options :

92090691841. 1
92090691842. 2
92090691843. 3
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Question Number : 61 Question Id : 92090623237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 61 Question Id : 92090623237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afeBE EfRem RoDs Tedn ©enfe ¥aC 4ues Thal BTy -

. mesmsaref @S
2. dasfmeelrem @5
3. EfOWEeOReTE @5 I

4. wpewaeezlEiant @5

e R e aT @FI- G (ST & I&Hal SINH T3] —

l. emieab (F13 |

2. Si€aEE (R |

3. Mees (93 |
4. FOCIYRED (F13 |

Options :

92090691841. 1
92090691842. 2
92090691843. 3
92090691844. 4

Question Number : 62 Question Id : 92090623238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 62 Question Id : 92090623238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 62 Question Id : 92090623238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 63 Question Id : 92090623239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 63 Question Id : 92090623239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 63 Question Id : 92090623239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 64 Question Id : 92090623240 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 64 Question Id : 92090623240 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 64 Question Id : 92090623240 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 65 Question Id : 92090623241 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090691857. 1
92090691858. 2
92090691859. 3
92090691860. 4

Question Number : 65 Question Id : 92090623241 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



92090691857. 1
92090691858. 2
92090691859. 3
92090691860. 4

Question Number : 65 Question Id : 92090623241 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oPag Tl ARTREE -

. de o
2. ofose seeEl
3. seRfe

4. memre) Rea

1. S s

2. faeTwE @

3. THEEE

4, 0 TEE
Options :

92090691857. 1
92090691858. 2
92090691859. 3
92090691860. 4

Question Number : 66 Question Id : 92090623242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

® ASET WAF FQR KF CHBCLI

o TGV (ST W% 341 HL4 |

Reason R:
e AYEH FPHEC FORS Zawsl BAC, ol RIS wE!, MIERT, RAEIMD @CT Tl

o TS (O] A1 EINIW ST, 4 =(rrera), AT, SR e

In the light of the above statements, choose the most appropriate answer from the
options given below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

lad fod —

4. A is not correct but R 1s correct
Options :
92090691861. 1
92090691862. 2
92090691863. 3
92090691864. 4

Question Number : 66 Question Id : 92090623242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

® ASET WAF FQR KF CHBCLI

o TGV (ST W% 341 HL4 |

Reason R:
e AYEH FPHEC FORS Zawsl BAC, ol RIS wE!, MIERT, RAEIMD @CT Tl

o TS (O] A1 EINIW ST, 4 =(rrera), AT, SR e

In the light of the above statements, choose the most appropriate answer from the
options given below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

lad fod —

4. A is not correct but R 1s correct
Options :
92090691861. 1
92090691862 2
92090691863. 3
92090691864. 4

Question Number : 66 Question Id : 92090623242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

® ASET WAF FQR KF CHBCLI

o TGV (ST W% 341 HL4 |

Reason R:
e AYEH FPHEC FORS Zawsl BAC, ol RIS wE!, MIERT, RAEIMD @CT Tl

o TS (O] A1 EINIW ST, 4 =(rrera), AT, SR e

In the light of the above statements, choose the most appropriate answer from the
options given below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

lad fod —

4. A is not correct but R 1s correct
Options :
92090691861. 1
92090691862 2
92090691863. 3
92090691864. 4

Question Number : 67 Question Id : 92090623243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o QEfEfE°C TROD AZERS RIEME RTINS BT I

o EFT S FGFA YA CIMAE (ADHR |
Reason R:

o QafEfee TRAT RIsTemd REf% HE se80 & EUR'E Oen 25afTRl WI28 Oamf AR
THROD ‘BES Ressl Sl Cf i

o FATEA TP FYIAEN YBFH dhqo W CFREER T IR CoEE A 4T T F I e
sl

In the light of the above statements, choose the most appropriate answer from the
options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 1s not correct
4. A is not correct but R 1s correct
Options :
92090691865. 1
92090691866. 2
92090691867. 3
92090691868. 4

Question Number : 67 Question Id : 92090623243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o QEfEfE°C TROD AZERS RIEME RTINS BT I

o EFT S FGFA YA CIMAE (ADHR |
Reason R:

o QafEfee TRAT RIsTemd REf% HE se80 & EUR'E Oen 25afTRl WI28 Oamf AR
THROD ‘BES Ressl Sl Cf i

o FATEA TP FYIAEN YBFH dhqo W CFREER T IR CoEE A 4T T F I e
sl

In the light of the above statements, choose the most appropriate answer from the
options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 1s not correct
4. A is not correct but R 1s correct
Options :
92090691865. 1
92090691866. 2
92090691867. 3
92090691868. 4

Question Number : 67 Question Id : 92090623243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
*  QEfEfE°C TROND SZERS RaBfe RERETIOS TEHLC I

o FF0 S FGPAE NYAA CAMIAE CADEH |
Reason R:

o QEfEfer TREN RasTemt R@TOH BF S30 & BUR'E OpD 25afTRl 9328 OFmf A%
THROD ‘BEeE Rawel Sem’ of i

o FATA T2 TN YEFH S0 W IR CHrae MM CorEE HMA T S SR e
TFsir |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 1s not correct
4. A is not correct but R 1s correct

Options :

92090691865. 1

92090691866. 2

92090691867. 3

92090691868. 4

Question Number : 68 Question Id : 92090623244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

e ZOEMT ORSRC OAIRR FEIERCHEAT A RICTamma i
LI |G 7 P P B RO L R I PREE S

Reason R:
e EFUmmIm OATEEm mpeld FEmirREIer ARl

o (AHEV AT fas IETeE (ATHFY |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. As correct but R 15 not correct

4. A1z not correct but R 15 correct

Options :



92090691869. 1
92090691870. 2
92090691871. 3
92090691872. 4

Question Number : 68 Question Id : 92090623244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A:
e BOEMT ORSRC ORIPR FEFRCHYM A RICCemml |

o  FM ATIEGN ATy IFEme R |

Reason R:
* FOMIH OAREN mMpe’d FEIFREIEAT A RTR

o (duHEw Alar Afae IETHH CAHFE |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 15 not correct
4. A 1s not correct but R 1s correct

Options :

92090691869. 1
92090691870. 2
92090691871. 3
92090691872. 4

Question Number : 68 Question Id : 92090623244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A:

e ZOEMT ORSKRC OAIRR FEIERCHEST A RICTamm i
o JLEEN ATCEG] AlTe] dEamms) (e |

Reason R:
o EUmmMIm OATRom mpeld FEirREIeT AR

o AUEEW AfTer ofas SEaEa CGnE |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 15 not correct
4. A is not correct but R 15 correct

Options :

92090691869. 1
92090691870. 2
92090691871. 3
92090691872. 4

Question Number : 69 Question Id : 92090623245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o RCMMER @fCOON REITEE KO TOf OATER TROD B2 3TERR S5 EXI

o Sl IR St e 3l S S TSy o2 @ fayiT &) %<3 |

Reason R:
o  REMMER JoRml efonc) SwfEe

o e N AR G

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 1s not correct
4. A is not correct but R is correct

Options :

92090691873. 1

92090691874. 2



92090691875. 3
92090691876. 4

Question Number : 69 Question Id : 92090623245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o  RCMMER @fPOON RRITES KO TOf OATER TROD B2 SIERA S5 EXl

o  SEfoEAT M WP @ BAl SHE S TST S o [wTvT &1 F43 |

Reason R:
*  REMMER aewml @fene) SwfEe

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 1s not correct
4. A is not correct but R 1s correct

Options :

92090691873. 1

92090691874. 2

92090691875. 3

92090691876. 4

Question Number : 69 Question Id : 92090623245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
¢  RCMIER OO REITES KO TOf OATER TROD B2 SIE3R 55 EX

o ST RIS Weie e TAr e S TSy Sz Fe il T weE |

Reason R:
o  REMMeR aewml eftnd SwfEe

. ﬂﬁﬂﬁrﬂﬂwml

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 15 not correct
4. A s not correct but R is correct

Options :

92090691873. 1

92090691874. 2

92090691875. 3

92090691876. 4

Question Number : 70 Question Id : 92090623246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

* RITKEC RO RIXC TRVE ZAC KO OBWF BF AoemsmIl I

o TeTHI T Mo SH@H TG =14 AFCS™ SR (73 |

Reason R:
*  ROE CEFPE REMM ARIC REeRCIOLOfDN OFIREa OFZIRfn CHers i

o I AIRCSS S9N g CIMTHERIS Hfzom Faraies ¢3592 |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 1s not correct
4. A s not correct but R 1s correct

Options :
92090691877. 1



92090691878. 2
92090691879. 3
92090691880. 4

Question Number : 70 Question Id : 92090623246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

* RITKIC KO RIRT TR FZHC KO OBHF B3 AoCmsmIl I
o SHeTI R Miow TG T (G T AZTST SR (I |

Reason R:
*  ROF CRIH REWT ARIT REARCIOLOMDMT OAIERR OFZIRIT THeTs i

o S AIBTSIN SIEA grE CAMTHERLA Ao M FATET e 9379s |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 1s not correct
4. A 1s not correct but R 1s correct

Options :

92090691877. 1
92090691878. 2
92090691879. 3
92090691880. 4

Question Number : 70 Question Id : 92090623246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

¢ RIDHIC ROF RIVC TRME 20 ROF CERE B3 ATmsmI |

o TeZgHl W1 Mo TG (G 3=/1q TSN SR (273 |

Reason R:
*  ROE OEFPE REWM ARIC REeRCIOLOMDN OAIRER OFZIRin CHems i

o S AIRCSTS SI9H greET CAMAEfeA Hfzom Faaiee 93592 |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 1s not correct
4. A s not correct but R 1s correct

Options :

92090691877. 1

92090691878. 2

92090691879. 3

92090691880. 4

Question Number : 71 Question Id : 92090623247 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A:
e OnfErnf 5fRes SRTrEl EORTmNt 28 B2 TROD R%I TCIRT SFC KEC emmaser |

o FZSH BT TET CFISTHIF AN Tl Tl S JIYE SnAF ] T (LAl |

Reason R:
o  (MEZE BETCORAM! R4 RBEIKCT OATIRS BPOIRTMN E2F B TROD %I TOT Ra 0%
RmRmr Roefi
o CASIZEY SLEARN TS ALIAT AETSHI (FI TR TE4! o7 T2 I & G191 T Fiear
B1e |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 15 not correct
4. A s not correct but R 1s correct

Options :



92090691881. 1
92090691882. 2
92090691883. 3
92090691884. 4

Question Number : 71 Question Id : 92090623247 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o  OAfERN BfReH SRraf IR THM E28 B8 TROD R TCIRDT REC REC POMEEC! |

o FESIH ROl TE CFRTRAN FEI! F WL IS SAAF T T CHLE |

Reason R:
o  OPBZR BETCORAM! 4 RBEOKET OAIBRE BPORTMN EC8 B TROD R%I TOF Ra 0%
smwmt Roef
o CHITE SUEEEN WS TG HROM] CFISTHIF T&4! F11 STaj8 1= S 5191 A0e] T
B1¢R |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 15 not correct
4. A s not correct but R 1s correct
Options :
92090691881. 1
92090691882. 2
92090691883. 3
92090691884. 4

Question Number : 71 Question Id : 92090623247 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o  Onfpanf sfRes SRl EORrmnf 28 B2 TROD %I TCIRD 3FC KEC POmEse |

o HZE HEEl (T IS TN TG Sl ST I AT AT ] CHLsa |

Reason R:
o PRZE BATCOREM! F4 RPEIKET OAIERS BORTRN EC3 B TROD R%I TOf Ra 0%
RmRmr Roefi
o CANIZEY SUEERN WS W LI ATSMH CFITARFIN FEa! =1 S I S 191 Fies T
b1 |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3.  Ais correct but R 15 not correct

4. A is not correct but R 1s correct

Options :

92090691881. 1
92090691882. 2
92090691883. 3
92090691884. 4

Question Number : 72 Question Id : 92090623248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o  TRfOPETOBI RFF ESE WS ARZON ORCE RA BFEE KIOT Tk TKC RCTLRRS |
o  JFTBRFIGHF oW F1edl B FTEH FAG] W02 SR T4F o1 @3] = |

Reason R:

* SV TROD TTORHI i @afsfrofmer i
o CRILBTS2 ARG (e fEharef |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A s correct but R 1s not correct

4. A is not correct but R 1s correct



Options :

92090691885. 1
92090691886. 2
92090691887. 3
92090691888. 4

Question Number : 72 Question Id : 92090623248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o  WEOWECOBN RWF ESE WEN AREON ORTE A BFETE RIOT T THT RECAFRS |
o FRTBRFICAI T TG FR QIR G AT TN AT S SBT3 |

Reason R:

*  IE°W® TROD TafORHI FeI2olir @afsfmormer i
o (DTS2 GETEGE (2rEiee [Eheae |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. As correct but R 1s not correct
4. A 1s not correct but R 1s correct

Options :

92090691885. 1

92090691886. 2

92090691887. 3

92090691888. 4

Question Number : 72 Question Id : 92090623248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

o  WORECOBN KWF ESE WEN AREON ORTE KA BFEME RIOT T THT RECAFRS |
o  AFTBRFIGF oW FIGT] T FIHA HAG] W2 TR0 Te(F ST Q3] L4 |

Reason R:

*  E°W® TROD TTORPHI FeI2eir @afsfmormer i
o (BTS2 GETEGE (Sraiee fEheiaef |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R 1s not correct
4. A 1s not correct but R 1s correct

Options :

92090691885. 1

92090691886. 2

92090691887. 3

92090691888. 4

Question Number : 73 Question Id : 92090623249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement 1.
o ToAw 2RaeFE’ AKam 2OMPI 2REPFEIE WA I
o CAGETS TIRCIF! ZITHS FCH 3L L6 |

Statement Il:

o Podw Sre-Fsf ZaE 2oMIE i
o CAGEIF TABFIN YA FACHEAT (T |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement 1l is correct
Options :
92090691889. 1



92090691890. 2
92090691891. 3
92090691892. 4

Question Number : 73 Question Id : 92090623249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
o  Podw 2RaeFE’ AKem 2OMPI 2REPREIE KT I
o CASETT TRIIT 2T A AT L&l |
Statement Ii:

o Podw Sne-Fsinf waw 2orPan i
o (AMEETF ST Y FCHET (e |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement 1l is correct
Options :
92090691889. 1
92090691890. 2
92090691891. 3
92090691892. 4

Question Number : 73 Question Id : 92090623249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement 1.
o ToAw 2RaeFE’ AKam 2OMPI 2REPFEIE WA I
o CATSEIF SABCIH QT SCHE N1ZCaT 46T |
Statement Il

o Podw Sre-Fsf ZaE 2oMIE i
CAGE I BTN LS ACHETA! (7 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement 1l is correct
Options :
92090691889. 1
92090691890. 2
92090691891. 3
92090691892. 4

Question Number : 74 Question Id : 92090623250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:

o ‘ER ABem TAMDIE RO I
o CFEP ZIEe SReq YeT |

Statement Il:

o ‘® XMOTD (PR ARAM 0 ATFE RO I
o ‘CEEN Bl CATEET SIEEST (T NEY el |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |l is incorrect but Statement |l is correct
Options :
92090691893. 1
92090691894. 2
92090691895. 3



92090691896. 4

Question Number : 74 Question Id : 92090623250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o ‘B® Anem TAMDRHE RO I
o CHHEP FEET SiREy 48l |
Statement Il

o ‘E% XTOTD (PRE ARAm 00 ATFE RO I
o CHRT DI CATEED SR (1 @199 We s |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement lis incorrect but Statement Il is correct

Options :

92090691893. 1
92090691894. 2
92090691895. 3
92090691896. 4

Question Number : 74 Question Id : 92090623250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |:

o ‘B® ABem TAMDIE RO I
o CFHEP ZEE SRey 48l |
Statement Il:

o ‘B8 XTOTD (PRE ARAm OO0 ATFE RO I
o ‘ORI Bl CATERT ZIEE5T (T @1 W6t |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct
Options :
92090691893. 1
92090691894. 2
92090691895. 3
92090691896. 4

Question Number : 75 Question Id : 92090623251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |
* RARXEE RUMMAT OAfERa Oe-mnf kAS X3 I

o e RIS AfTET (A wEhe (o |

Statement I1:

¢  RABXEE RCMMe’ OAMPRE THITE OTR OfZIETAC 25l S ITaFs® |

® ST 5o RS AT SEF 7 A AR (ST |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement 1l are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090691897. 1
92090691898. 2
92090691899. 3



92090691900. 4

Question Number : 75 Question Id : 92090623251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
* RARXEE RUMMal AAfEEs Oemnf kA% XoJef I

o UGSl SerHE A (*rae i w2le 5f |
Statement 11:

¢ RREXEE REMAT OAMERE THTCE O8R OfCIETAT SRell S ITaFSe |

o I 5 WE AR Sedl g Ml o3 (TN |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090691897. 1
92090691898. 2
92090691899. 3
92090691900. 4

Question Number : 75 Question Id : 92090623251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
* RREXEE RUMMAT OAfEEa Oemnt kA% XoJef I

o ALl EEE A T2raed wle ol |
Statement II:
« RREXEE RCMMe’ OAMPRE THTTE OTR OfZfETAC 2Rl S ITaFE® |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct



Options :

92090691897. 1
92090691898. 2
92090691899. 3
92090691900. 4

Question Number : 76 Question Id : 92090623252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
e ROEF ORSTHES O°RROMT F4%E MACE WEref
o BEN HACEH (LTI Y3 TG R |
Statement II:

o THEOEE ORCTEAMNT THCE AT RATE! TACE RIEMT (riRe Oaeme! i
o STBES TR ST (IR W2IE] SHe-E] TSN (A CATE |

In the light of the above statements, choose the most appropriate answer from the options given below

Both Statement | and Statement |l are correct
Both Statement | and Statement |l are incorrect
Statement | is correct but Statement Il is incorrect
Statement | is incorrect but Statement |l is correct

i

Options :

92090691901. 1
92090691902. 2
92090691903. 3
92090691904. 4

Question Number : 76 Question Id : 92090623252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I
o  ROAF ORSTHES O°RRENT R4 MECE WETEl
o BEN HACEH (LTI Y3 SATE FR |

Statement II:
o  ZHEOOT OREEFEATNT THEE RAT RATET TOTF RIFMT (ring Oaeme! i
o STSE FTACEMA ST IR NI =] o (e CAE |

In the light of the above statements, choose the most appropriate answer from the options given below

Both Statement | and Statement |l are correct
Both Statement | and Statement |l are incorrect
Statement | is correct but Statement Il is incorrect
Statement | is incorrect but Statement 1l is correct

oot el

Options :

92090691901. 1
92090691902. 2
92090691903. 3
92090691904. 4

Question Number : 76 Question Id : 92090623252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement |:

o HOEF ORETHE O°RREPT 7B MACE WEEl I
o TIEES FAGH GBI Y22 ATE Fh |

Statement Il:
o ZHEOOT ORoeEFenl TREEE RAT RAET TOTE ESEnT oene Gaenef |
o FAIDHN AACEHA C QTN (T WHIE Sewd] TS CAGIEE CAa |

In the light of the above statements, choose the most appropriate answer from the options given below

Both Statement | and Statement |l are correct
Both Statement | and Statement |l are incorrect
Statement | is correct but Statement Il is incorrect
Statement | is incorrect but Statement |l is correct

i

Options :

92090691901. 1
92090691902. 2
92090691903. 3



92090691904. 4

Question Number : 77 Question Id : 92090623253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement [:

‘TR’ AReWm FPWE KON
o cHgfNe TIUH FLAG VT |
Statement Il

« ‘OJRfD WO B’ A%em Ef @O BIEE %O I
<xfgfine ff fear graes [ o iag <et |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement|isincorrect but Statement Il is correct

Options :

92090691905. 1

92090691906. 2

92090691907. 3

92090691908. 4

Question Number : 77 Question Id : 92090623253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement [:

o ‘Olafm Ao FROE RO I
o cWgfne TN RN ol |
Statement Il

o ‘oiwfD @fof B’ A%em Ef @fOf BIEE WO I
<xfigfire e faar graasn o ol feag wela |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct



Options :

92090691905. 1
92090691906. 2
92090691907. 3
92090691908. 4

Question Number : 77 Question Id : 92090623253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o ‘OiRfD A% FROE RO I
o cEpfwe DU AU 6T |

Statement |l:
o ‘ORfD WO B’ A%em Ef @IOF BIFE RT |
o e Rl e g fF el g weta |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691905. 1

92090691906. 2

92090691907. 3

92090691908. 4

Question Number : 78 Question Id : 92090623254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I
o ‘T3 REMME RERCEO BO Torofeor’ emimf TAes gomf Teerofzemneef |
o 7 R G0N T2 GAIHCEA AN ST S TATATEAA |

Statement |I:
o  TEIM TACE BON TOPOMROT B@fORERF 5898 & fmR4%1 I
o SN SrEEl F1AN QUATATEI YBF Sad 7 e |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct
Options :
92090691909. 1
92090691910. 2
92090691911. 3
92090691912. 4

Question Number : 78 Question Id : 92090623254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I
o ‘T3 REMME RERCEO BO Torofeor’ emimf TAes gomf Teerofzemneef |
o 7 R G0N T2 GAIHCEA AN ST S TATATEAA |

Statement |I:
o  TEIM TACE BON TOPOMROT B@fORERF 5898 & fmR4%1 I
o TR S ST STAPCE YBP Sab T e |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct
Options :
92090691909. 1
92090691910. 2
92090691911. 3
92090691912. 4



Question Number : 78 Question Id : 92090623254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:

T3 REIME REREO BO Torofeor’ emimf TAes Bomf Teorofzemneef |
« g WF#[E G20 F12 QUTIATI AR ST S GTAHTEHR |

Statement |1

THimf TATE BOWN TOPOMROT BE@fORERF 5898 & el Mw4% I
AR St 1A QTAPTCRAT YEFH Sabrd 71 Foresief |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct
Options :
92090691909. 1
92090691910. 2
92090691911. 3
92090691912. 4

Question Number : 79 Question Id : 92090623255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I
o W Baw-5'Cl ReR! KEF RREM! KRO FTC RAT-REC@! THC ROPTT |
o CSTSA BT Y T TSTN NPT YAT-YAE] G2 ANGTATHF |
Statement Il:

o RBSM TCEW, SAME TROD OFFM ToF TOF kIME RAMDRT OFCPS (P5AC RUSTT |
o CETOA CATEAL, TR SR A (S S Jefw YL TE WFCHAT CATTAAT A TATF |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :
92090691913. 1



92090691914. 2
92090691915. 3
92090691916. 4

Question Number : 79 Question Id : 92090623255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I
o WM $A%-3Cl ReRM REF KRN K30 KCT RAT-RATET THC RUPTT I
o CATSA FArR- T YAt T T AT -G G AN TATTF |
Statement 11

o RBW TCEW, SAME TROD OFFM Tor TOF KIME RHEMOET OFCPS (P5&C ROUSTT |
o CETSA ORI, TLEICAT SR A (AT S qefw YN WA CTA! AT |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090691913. 1
92090691914. 2
92090691915. 3
92090691916. 4

Question Number : 79 Question Id : 92090623255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I:

o WM $A%-3Cl ReRM REF KRN K30 KCT RAT-RATET THC RUPTT I
o CCOR T A T e O NP2 (-GG 93 A TATE |

Statement Il:
o RBW TCEW, SAME TROD OFFM Tor TOF KIME RHEMOET OFCPS (P5&C ROUSTT |
o TSR oL, FEIeE Se A (A S Tl YT SRR oM ST |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct



Options :

92090691913. 1
92090691914. 2
92090691915. 3
92090691916. 4

Question Number : 80 Question Id : 92090623256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:

o  Fed & RN AeE-EER BRBENT 2FF ol
o C3E1 QT CHTSANT ZATS-F O JIRwA W A |

Statement 11
o F@ IF AOG-EAR NFRTE ROFC RIS TAE CATHS T4 I
CET YT H18-F 0 TFA41 TA1 AT ST 2291 =10G |

In the light of the above statements, choose the most appropriote answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691917. 1
92090691918. 2
92090691919. 3
92090691920. 4

Question Number : 80 Question Id : 92090623256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |:

o  ed & REN AeE-WER EABENT 2FF ol
o CE T CHOSH ZATS-F0H v W & |

Statement Il
o Fed IF AOG-EAR RFRCE ROFC RIZFR TAS CATHS T4 I

o (A1 UMl TG-S TFANG! TGH] AT TEET 4224 A0S |

In the light of the above statements, choose the most appropriote answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090691917. 1
92090691918. 2
92090691919. 3
92090691920. 4

Question Number : 80 Question Id : 92090623256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:

o  md T REN AeE-mER TARENT 2FF ot

o ST AT CHCOR TATS-FOT YIEwS 7 241 |
Statement Il:

o R0 IF AOS-EAR NFRTE ROFC RIS TRE CATHS T4 I
(A1 AT ZATS-FUH IF] FEF A SFRT F2294 =03 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct
Options :
92090691917. 1

92090691918. 2
92090691919. 3



92090691920. 4

Question Number : 81 Question Id : 92090623257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |
e« Hr Prm Rrme A5snf mees Aserref mRnf kR Snf 95 A5sel
o (E] CTPE CAIFoET STEER W4l grecgie o W61 & &g SrEd |

Statement II:
o Pesum B RWI EREHT DOeeEe |
o O (F e TR caere |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691921. 1

92090691922. 2

92090691923. 3

92090691924. 4

Question Number : 81 Question Id : 92090623257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I:
e HCE PrW Rrme A5snf Rees ARerref st kR snf 95 A%seli
o (B GO COIFE] 2R WiEal aRceie e W61 BN &g 2rEd |

Statement Il:
o  Pa3UR B RWI ERfEAl Do |
COTEEAT 0 Wil e Cere |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691921. 1

92090691922. 2

92090691923. 3

92090691924. 4

Question Number : 81 Question Id : 92090623257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement |:

o  HC PR Trme AKENT REUE RACHTRT RNl KR SR 95 AKSeli
o CE COTEA CHTEEE 2TEE S e e snT BN Stz ot |

Statement Il:
o  Wosus @ RWI EREHEM DOeeEe |
(oIl CF Wi wifeafr carerst |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691921. 1

92090691922, 2

92090691923. 3

92090691924. 4



Question Number : 82 Question Id : 92090623258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement
e RCfmel OAfERA FOR@E! e3fraels dmemt RRI TROD Geeumf mads EREAN B3
wEfal dz@me Oaeegazi4er |
o R R e AT SRR A T e Fe N YR OFl I AT
Aramferef |
Statement 1l

o ATHRE OPCHEETHT FOTEMT BOf BerR i
o AGPAR AEFHGEA] PEN A 277 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691925. 1
92090691926. 2
92090691927. 3
92090691928. 4

Question Number : 82 Question Id : 92090623258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I
o mCMmel OAfERR BfORE@ET esfcaeds d@ert ARI TROD Ogonf meds ER%sEM B3
wEfal dzmme OaeeEazi4er |
o AR AfTOM el IRmAIY SFER T e e e giRwSl O’ S e
ArFAiere |
Statement 1l

o ATHRE OPCRETHT FOTERT BOf SerR i
o AGFAE AEHGEA TN A T |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement| and Statement Il are correct
Both Statement | and Statement Il are incorrect

2
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691925. 1
92090691926. 2
92090691927. 3
92090691928. 4

Question Number : 82 Question Id : 92090623258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
o  mCMmel AAfpRR SOQREST esfcaeds dmer! ARI TROD G onf meds ERkam 3F
WETHT STHRE O TEATHCT I
o R fEEM ST IR STFER T S Ae s e giEwel oR Ff egTE
HramiEef |
Statement II:

o ATHRE OPTERETHT FOTEMT BOf BerR i
o AGPAR AEEGA T A 27 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct



Options :

92090691925. 1
92090691926. 2
92090691927. 3
92090691928. 4

Question Number : 83 Question Id : 92090623259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:

CBEROMBYS CRrE KR kel RSk
ABTTEW A T4 We WET |

Statement Il:
o ORI xR ReT&l afeRss, afefass, afecels TRal afemanct |
o HIF Y T firamie, Srdree, Yaeiere S faee |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

92090691929. 1
92090691930. 2
92090691931. 3
92090691932. 4

Question Number : 83 Question Id : 92090623259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |:
o OBROOBLTR CRUE’ kR kel SE5I
o IBTHTEW] Sl W qE qed |
Statement Il:

o ORI k%A ReT&El afe®Rsss, afefass, afecels Tral afemees |

In the light of the above statements, choose the most oppropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

92090691929. 1
92090691930. 2
92090691931. 3
92090691932. 4

Question Number : 83 Question Id : 92090623259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |
o CEROOBEF CRUEF k3 kel RE5 I
o SGTETEW STHE TUE WE wies |
Statement Il

o ORmr BRI Refwf afePRsos, afefass, afecels Tral afemanct |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

92090691929. 1
92090691930. 2
92090691931. 3
92090691932. 4



Question Number : 84 Question Id : 92090623260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
o  @WT FLTORBERM KRT THRET I
o FAF TATEEN T T |

Statement Il
o  gWrEl KRI mee waet i
o ORI AU ST SN |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement |is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691933. 1

92090691934. 2

92090691935. 3

92090691936. 4

Question Number : 84 Question Id : 92090623260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
o  @WT FLTORBERM KRT THRET I
o FAF TATEEN T T |

Statement Il
o  gWrEl KRI mee waet i
o ORI AU ST SN |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement |is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090691933. 1



92090691934. 2
92090691935. 3
92090691936. 4

Question Number : 84 Question Id : 92090623260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
s oW mrmnimnur BRI WRET I
o FAF TATEEN T T |
Statement I1:

o  gWrEl KRI mee waet i
o FEH! T o M |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement |is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691933. 1

92090691934, 2

92090691935. 3

92090691936. 4

Question Number : 85 Question Id : 92090623261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |:

o mEIMETR FEEMTE el
o SRR B (S |
Statement Il:

o ROMMEts SCEMFO SHEml Rawsf TWE RA Kof Immamfef i
o FRISRMI TAfFE Ceredd wEsm @ 9102 ve e |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement 1l is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090691937. 1
92090691938. 2
92090691939. 3
92090691940. 4

Question Number : 85 Question Id : 92090623261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o REIMETR KCEMT el
o SRR 3 (TS |
Statement II:

o REIMATH KCEMT SHEM ROFRT TME RA Ko I mamies |
o FFIeRM T Ceroad wEem W 9102 ve e |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement 1l is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090691937. 1
92090691938. 2
92090691939. 3



92090691940. 4

Question Number : 85 Question Id : 92090623261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o REIMETH KCEMT Syel
o FIRI IS OIS |
Statement II:

e  RCMMET® FEEMMC) SHEMT Rewal WHE N4 Kol Immamies i
o I SR (TSN Haw Sof1 9102 efHEe s |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691937. 1
92090691938. 2
92090691939. 3
92090691940. 4

Question Number : 86 Question Id : 92090623262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
e RERD TF BPEEC RRAC 230 cPo@C! |
o YR S AR AT LRI oI
Statement II:

e @ AEr RERD BPEF RINT RREC JET CPUEI
o T CZAINYI AT TN AT (FEF (I |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are carrect
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct



Options :

92090691941. 1
92090691942. 2
92090691943. 3
92090691944. 4

Question Number : 86 Question Id : 92090623262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I
e RERN UH BEEC RREC J30 cPmmEef |
o YL T CFIIH] TAHA (RS (R
Statement II:

¢ @ AEC RERD BPEE KM RREC SET CPTEI
o  TI(CTAITYR (FE T AT (F@ (K3 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090691941. 1
92090691942. 2
92090691943. 3
92090691944. 4

Question Number : 86 Question Id : 92090623262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |

e RERD TF BPEEC RRAC 230 cPo@C! |
o YR S AR AT LRI oI

Statement 1l

e @ AEr RERD BPEF RINT RREC JET CPUEI
o FICTAITYI CEAT TN TNAT LAIE CAES |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are carrect
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090691941. 1
92090691942. 2

92090691943. 3
92090691944. 4

Question Number : 87 Question Id : 92090623263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Insert Stem:

A. BECE TUEM COR AKT RO I
B. 3&CE Tr@l W°E ARC R I
C. zazs srmf omf AT R I

D. z@zs srmf ofnZ AKC RE I
Insert Stem:

A. TEG LT (IS0 I He T |

B. @I 4Gl (O TIET 6 |
C. 59 4 150 ZE1 T |
D

. T 4F] T T W6l |
Choose the correct answer from the options given below:

Aand B Only
Aand C Only
B and C Only
B and D Only

Fro bR

Options :



92090691945. 1
92090691946. 2
92090691947. 3
92090691948. 4

Question Number : 87 Question Id : 92090623263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Insert Stem:

A. BECE SUEF COE AKC RO I
B. E&CE Tr@l W°T ARCT R I
C. 3ezs srmf Oml AKC R I

D. sz srmf OfmZ AKC XU I
Insert Stem:

A. TEG LT (1T 2 He T |

B. & %&! (oA 211 FelA |
C. 59 4 150 2T 6T |

D. &9 4 MG 2] 96l |
Choose the correct answer from the options given below:

Aand B Only
Aand C Only
B and C Only
B and D Only

o

Options :

92090691945. 1
92090691946. 2
92090691947. 3
92090691948. 4

Question Number : 87 Question Id : 92090623263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. BECE SUEF COE AKC RO I

B. E&CE Tr@l W°T ARCT R I
C. Berzg swmf Omf A%C %0 I

D. sz srmf OfmZ AKC XU I
Insert Stem:

A. TEG LT (1T 2 He T |
B. I@J 4 (T T 8T |
C. 59 4 150 2T 6T |

D. IT{ 4 Aewe 2Rl el |
Choose the correct answer from the options given below:

Aand B Only
Aand C Only
B and C Only
B and D Only

o

Options :

92090691945. 1
92090691946. 2
92090691947. 3
92090691948. 4

Question Number : 88 Question Id : 92090623264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. Tals 2T ERD THIOM D AR 208 RU I
B. wefs 2Ta RE ABAM RE RO
C. wd’s ea mzend Axem Jnmg we |
D. im-3mf Aewessf Refmeef |
Insert Stem:
A. ST W FI6E -GS FUE ZEAAN A6 WE T |
B. ST o o7y 2T O W6l |
C. SILET (o] FCGSTS QTHE5 (F100%q W6 T |
D. ane-SIA CEiFEsm Ao |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandCOnly
3. Cand D Only
4. AandD Only

Options :

92090691949. 1
92090691950. 2
92090691951. 3
92090691952. 4

Question Number : 88 Question Id : 92090623264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. Tals 2T ERD THIOM D AR 208 RU I
B. wefs 2Ta RE ABAM RE RO
C. wd’s ea mzend Axem Jnmg we |
D. im-3mf Aewessf Refmeef |
Insert Stem:
A. SIfEET (T FBE RS FUEL TN AT U6 TH |
B. ST CoFT 7 ST O 4ol |
C. SILET (o] FCGSTS QTHE5 (F100%q W6 T |
D. ane-SIA CEiFEsm Ao |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandCOnly
3. CandD Only
4. AandD Only

Options :

92090691949. 1
92090691950. 2
92090691951. 3
92090691952. 4

Question Number : 88 Question Id : 92090623264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. Tals 2T ERD THIOM D AR 208 RU I
B. wefs 2Ta RE ABAM RE RO
C. wd’s ea mzend Axem Jnmg we |
D. im-3mf Aewessf Refmeef |
Insert Stem:
A. SIfEET (T FBE RS FUEL TN AT U6 TH |
B. ST CoFT 7 ST O 4ol |
C. SILET (o] FCGSTS QTHE5 (F100%q W6 T |
D. ane-SIA CEiFEsm Ao |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandCOnly
3. CandD Only
4. AandD Only

Options :

92090691949. 1
92090691950. 2
92090691951. 3
92090691952. 4

Question Number : 89 Question Id : 92090623265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. ‘maFwee TmeE BEMIOTe FECf |
B. ‘dzmERke! THROD SRTRROM’ STERE REsfeT Berser |
C. ‘®RMM KRR GFEHEF KEFRC K0T
D. ‘®oft SEREIMT Refel oafsfaece Kerso! |

Insert Stem:
A. STETW Q1SS ST 541 |
B. ‘FGgwHIE SNGe SIpAbIEG Aregwld Y] 2a90 |
C. sl s YeeTas SEEH 244 |
D. 3 TR gEW ST SEE |

Choose the correct answer from the options given below:

A and B Only
A and C Only
A and D Only
B and C Only

o N

Options :

92090691953. 1
92090691954. 2
92090691955. 3
92090691956. 4

Question Number : 89 Question Id : 92090623265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Insert Stem:
A. ‘mRFeeY TmzR FRMIOTT KBl
B. ‘dzmRke! THROD FXTRROM STERE RI3feT SeFsCr |
C. ‘WRfMf KR GESASE BEERC K30l |
D. ‘mofz srEamf Refe!’ oafsfaeer serges i

Insert Stem:
A. SRR 218 SRR 341 |
B. ‘dEguIEal Séwe TIHH G ATGEHE AYIE] Ta |
C. S 1= LereTas SpH 34 |
D. W& T g S 299 |

Choose the correct answer from the options given below:

A and B Only
Aand COnly
A and D Only
B and C Only

WM



Options :

92090691953. 1
92090691954. 2
92090691955. 3
92090691956. 4

Question Number : 89 Question Id : 92090623265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Insert Stem:
A. ‘RRTEeCY IWZE FEMIOTT KBl
B. ‘dzmRe! THROD SRTRROMD’ STERS RIEfeT Ferser |
C. ‘WRfMf KR RESASE KEARC K3l
D. ‘mofc sEEIM! Refer’ oafsfeeee serser i

Insert Stem:
A, IHICT LIS SR 34 |
B. ‘FEguial Séwe THHAGIAL ATGEHIE FYIE] S |
C. S S T SBT3 |
D. 30 T g S 2au- |

Choose the correct answer from the options given below:

A and B Only
A and COnly
Aand D Only
B and C Only

e 0l e

Options :

92090691953. 1
92090691954. 2
92090691955. 3
92090691956. 4

Question Number : 90 Question Id : 92090623266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. mt A0 kg 2% MO THI

B. mME AW CRkfs Rerfef XMCT MOTTTaFRS I
C. mi mMes B8 ®IE K’ BHI
D. Ba-E mMes B8 RIF K @I
Insert Stem:
A. T e T AT S TS |
B. i f2are e s o AAle g |
C. iR =1 SR Y= 8l (FIZ |
D

. LI AT SR Y ROl (12 |

Choose the correct answer from the options given below:

1. Aand D Only
2. BandDOnly
3. AandCOnly
4. BandCOnly
Options :
92090691957. 1
92090691958. 2

92090691959. 3
92090691960. 4

Question Number : 90 Question Id : 92090623266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. mt A0 kg 2% MO THI

B. mME AW CRkfs Rerfef XMCT MOTTTaFRS I
C. mi mMes B8 ®IE K’ BHI
D. Ba-E mMes B8 RIF K @I
Insert Stem:
A. T e T AT S TS |
B. i f2are e s o AAle g |
C. iR =1 SR Y= 8l (FIZ |
D

. LI AT SR Y ROl (12 |

Choose the correct answer from the options given below:

1. Aand D Only
2. BandDOnly
3. AandCOnly
4. BandCOnly
Options :
92090691957. 1
92090691958. 2

92090691959. 3
92090691960. 4

Question Number : 90 Question Id : 92090623266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. mt A0 kg 2% MO THI

B. mME AW CRkfs Rerfef XMCT MOTTTaFRS I
C. mi mMes B8 ®IE K’ BHI
D. Ba-E mMes B8 RIF K @I
Insert Stem:
A. T e T AT S TS |
B. i f2are e s o AAle g |
C. iR =1 SR Y= 8l (FIZ |
D

. LI AT SR Y ROl (12 |

Choose the correct answer from the options given below:

1. Aand D Only
2. BandDOnly
3. AandCOnly
4. BandCOnly
Options :
92090691957. 1
92090691958. 2

92090691959. 3
92090691960. 4

Question Number : 91 Question Id : 92090623267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:

A, 2mEM ROF T TFC ZIPE 80 CEROORAR 25501
B. zm*% dio) smemmrer i
C. zm*s do mefmen T2-meofmr! w3t i
D. dzoal APERERET TMP% S0l BSSRRT I
Insert Stem:
A. SIGTS SIF ST @31 GAAIE 1 A1BTHE] TS |
B. GI5E 9% TAFHEH |
C. i 317 Wil eTl e et |
D. G SHiom-l Saiz awe T |

Choose the correct answer from the options given below:
1. Aand COnly
2. Aand D Only
3. Band COnly
4. Band D Only

Options :

92090691961. 1
92090691962. 2
92090691963. 3
92090691964. 4

Question Number : 91 Question Id : 92090623267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:

A, 2mEM ROF T TFC ZIPE 80 CEROORAR 25501
B. zm*% dio) smemmrer i
C. zm*s do mefmen T2-meofmr! w3t i
D. dzoal APERERET TMP% S0l BSSRRT I
Insert Stem:
A. SIGTS SIF ST @31 GAAIE 1 A1BTHE] TS |
B. GI5E 9% TAFHEH |
C. i 317 Wil eTl e et |
D. G SHiom-l Saiz awe T |

Choose the correct answer from the options given below:
1. Aand COnly
2. Aand D Only
3. Band COnly
4. Band D Only

Options :

92090691961. 1
92090691962. 2
92090691963. 3
92090691964. 4

Question Number : 91 Question Id : 92090623267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:

A, 2mEM ROF T TFC ZIPE 80 CEROORAR 25501
B. zm*% dio) smemmrer i
C. zm*s do mefmen T2-meofmr! w3t i
D. dzoal APERERET TMP% S0l BSSRRT I
Insert Stem:
A. SIGTS SIF ST @31 GAAIE 1 A1BTHE] TS |
B. GI5E 9% TAFHEH |
C. i 317 Wil eTl e et |
D. G SHiom-l Saiz awe T |

Choose the correct answer from the options given below:
1. Aand COnly
2. Aand D Only
3. Band COnly
4. Band D Only

Options :

92090691961. 1
92090691962. 2
92090691963. 3
92090691964. 4

Question Number : 92 Question Id : 92090623268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. REFORPTT Gaemml Tm Reennf DEm Xeers® A%
B. mPiefze Remoresml 2enf Rins @afsfOscal WRime )
C. @°re Rog°we ReFORCTW kera! 2wy &5 @afstoe! 5l
D. RemOReTwM E3IefzC FEC o ROs @afsfmwef |

Insert Stem:

A. IUATL! CHTELR CFWST FICEL A (FwSiT CHETT 31 |

B. (FEaG] gAgel cer= et fEhAge Coifiy |
C. (I (FCEF1 TgId~] Wl A1 (ol febaf o |
D. FWELSH (FEiael (ZH AT §1¢q1 fFhah |

Choose the correct answer from the options given below:

1. AandBOnly
2. AandCOnly
3. BandCOnly
4. BandD Only

Options :

92090691965. 1
92090691966. 2
92090691967. 3
92090691968. 4

Question Number : 92 Question Id : 92090623268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. REFORPTT Gaemml Tm Reennf DEm Xeers® A%
B. mPiefze Remoresml 2enf Rins @afsfOscal WRime )
C. @°re Rog°we ReFORCTW kera! 2wy &5 @afstoe! 5l
D. RemOReTwM E3IefzC FEC o ROs @afsfmwef |

Insert Stem:

A. IUATL! CHTELR CFWST FICEL A (FwSiT CHETT 31 |

B. (FEaG] gAgel cer= et fEhAge Coifiy |
C. (I (FCEF1 TgId~] Wl A1 (ol febaf o |
D. FWELSH (FEiael (ZH AT §1¢q1 fFhah |

Choose the correct answer from the options given below:

1. AandBOnly
2. AandCOnly
3. BandCOnly
4. BandD Only

Options :

92090691965. 1
92090691966. 2
92090691967. 3
92090691968. 4

Question Number : 92 Question Id : 92090623268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. REFORPTT Gaemml Tm Reennf DEm Xeers® A%
B. mPiefze Remoresml 2enf Rins @afsfOscal WRime )
C. @°re Rog°we ReFORCTW kera! 2wy &5 @afstoe! 5l
D. RemOReTwM E3IefzC FEC o ROs @afsfmwef |

Insert Stem:

A. IUATL! CHTELR CFWST FICEL A (FwSiT CHETT 31 |

B. (FEaG] gAgel cer= et fEhAge Coifiy |
C. (I (FCEF1 TgId~] Wl A1 (ol febaf o |
D. FWELSH (FEiael (ZH AT §1¢q1 fFhah |

Choose the correct answer from the options given below:

1. AandBOnly
2. AandCOnly
3. BandCOnly
4. BandD Only

Options :

92090691965. 1
92090691966. 2
92090691967. 3
92090691968. 4

Question Number : 93 Question Id : 92090623269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. OTAE MPEST ARPW KT I
B. Rerma Gaem REE REe
C. dgema 5O RSB #Fe |
D. wldes rac>3 Axam wee

Insert Stem:
A. T TN SR el |
B. JHICHT A2 Tred T |
C. CHTaewT R FI6 TH |
D. SeEEq S SIEEsT Gel |

Choose the correct answer from the options given below:

1. AandBOnly
2. AandCOnly
3. AandDOnly
4. BandCOnly
Options :
92090691969. 1
92090691970. 2

92090691971. 3
92090691972. 4

Question Number : 93 Question Id : 92090623269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. OTAE MPEST ARPW KT I
B. Rerma Gaem REE REe
C. dgema 5O RSB #Fe |
D. wldes rac>3 Axam wee

Insert Stem:
A. T TN SR el |
B. JHICHT A2 Tred T |
C. CHTaewT R FI6 TH |
D. SeEEq S SIEEsT Gel |

Choose the correct answer from the options given below:

1. AandBOnly
2. AandCOnly
3. AandDOnly
4. BandCOnly
Options :
92090691969. 1
92090691970. 2

92090691971. 3
92090691972. 4

Question Number : 93 Question Id : 92090623269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. OTAE MPEST ARPW KT I
B. Rerma Gaem REE REe
C. dgema 5O RSB #Fe |
D. wldes rac>3 Axam wee

Insert Stem:
A. T TN SR el |
B. JHICHT A2 Tred T |
C. CHTaewT R FI6 TH |
D. SeEEq S SIEEsT Gel |

Choose the correct answer from the options given below:

1. AandBOnly
2. AandCOnly
3. AandDOnly
4. BandCOnly
Options :
92090691969. 1
92090691970. 2

92090691971. 3
92090691972. 4

Question Number : 94 Question Id : 92090623270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Drama List | Year of Publication List Il
| A BeRAT | SEN
B. 3 Il.  Se%F
C. ABORS .  Sgxs
D. S 3wof V. $9%2
A, SIEHEE I e
B. @l . S»4a¢
C. ©EreE ML M9
D. &%l IV.  3H98

Choose the correct answer from the options given below:

1: A-1II B-III C-I D-1Vv
s A-1I B-I C-ll D-Iv
3. A-lll B-Iv C-1II D-I
4, A-lll B-1I C-Iv D-l

Options :

92090691973. 1
92090691974. 2
92090691975. 3
92090691976. 4

Question Number : 94 Question Id : 92090623270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Drama List | Year of Publication List Il
| A BeRAT | SEN
B. 3 Il.  Se%F
C. ABORS .  Sgxs
D. S 3wof V. $9%2
A, SIEHEE I e
B. @l . S»4a¢
C. ©EreE ML M9
D. &%l IV.  3H98

Choose the correct answer from the options given below:

1: A-1II B-III C-I D-1Vv
s A-1I B-I C-ll D-Iv
3. A-lll B-Iv C-1II D-I
4, A-lll B-1I C-Iv D-l

Options :

92090691973. 1
92090691974. 2
92090691975. 3
92090691976. 4

Question Number : 94 Question Id : 92090623270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Drama List | Year of Publication List Il
| A BeRAT | SEN
B. 3 Il.  Se%F
C. ABORS .  Sgxs
D. S 3wof V. $9%2
A, SIEHEE I e
B. @l . S»4a¢
C. ©EreE ML M9
D. &%l IV.  3H98

Choose the correct answer from the options given below:

1: A-1II B-III C-I D-1Vv
s A-1I B-I C-ll D-Iv
3. A-lll B-Iv C-1II D-I
4, A-lll B-1I C-Iv D-l

Options :

92090691973. 1
92090691974. 2
92090691975. 3
92090691976. 4

Question Number : 95 Question Id : 92090623271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List |1

List | Life Span List Il
A. WRISHERF T°RE( l.  SER0 - SEEE
B. maszmRe! BfTwfCl Il.  $$8¢ - 80SE
C. WHEE°F MYewHfC! .  sg8s - 80SS
D. ZEOAF Ok TIL IV. 8082 - 800€
A, SCIEEH (A1 L. 530 - dadb
B. WERIGE4! [Areiwal I 533 - 305
C. ¥IETwy sl ML 5533 - 300)
D. FZEH AT IV. 3038 - Yo0b

Choose the correct answer from the options given below:

1. A-l B-1II C-1IV D-1
ks A-l B=1I €= "Bl
3 A-l B-IN" C=MM 'B«i
4. A-l B-Il C-I D-1IV
Options :

92090691977. 1
92090691978. 2
92090691979. 3
92090691980. 4

Question Number : 95 Question Id : 92090623271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List |1

List | Life Span List Il
A. WRISHERF T°RE( l.  SER0 - SEEE
B. maszmRe! BfTwfCl Il.  $$8¢ - 80SE
C. WHEE°F MYewHfC! .  sg8s - 80SS
D. ZEOAF Ok TIL IV. 8082 - 800€
A, SCIEEH (A1 L. 530 - dadb
B. WERIGE4! [Areiwal I 533 - 305
C. ¥IETwy sl ML 5533 - 300)
D. FZEH AT IV. 3038 - Yo0b

Choose the correct answer from the options given below:

1. A-l B-1II C-1IV D-1
ks A-l B=1I €= "Bl
3 A-l B-IN" C=MM 'B«i
4. A-l B-Il C-I D-1IV
Options :

92090691977. 1
92090691978. 2
92090691979. 3
92090691980. 4

Question Number : 95 Question Id : 92090623271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List |1

List | Life Span List Il
A. WRISHERF T°RE( l.  SER0 - SEEE
B. maszmRe! BfTwfCl Il.  $$8¢ - 80SE
C. WHEE°F MYewHfC! .  sg8s - 80SS
D. ZEOAF Ok TIL IV. 8082 - 800€
A, SCIEEH (A1 L. 530 - dadb
B. WERIGE4! [Areiwal I 533 - 305
C. ¥IETwy sl ML 5533 - 300)
D. FZEH AT IV. 3038 - Yo0b

Choose the correct answer from the options given below:

1. A-l B-1II C-1IV D-1
ks A-l B=1I €= "Bl
3 A-l B-IN" C=MM 'B«i
4. A-l B-Il C-I D-1IV
Options :

92090691977. 1
92090691978. 2
92090691979. 3
92090691980. 4

Question Number : 96 Question Id : 92090623272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

Name of Theater List | Year of Est.  List li

A. e ZERIIE FRUIRE I SRS

B. AMRAI Ty 1. SERF

C. weafie sfrene . Ry

D. (POBRX Tfewe V. S22k

A. (S TRl 2EHE R LAY

B. FoWge fATA6T I 55e¢

C. g fArEee M. 3o

D. CEh fArEsa IV. D389
Choose the correct answer from the options given below:
1. A-1l B-ll C-1 D-IV
2. A-l1  B-IV C-ll D-l
3. A-11 B-I c-1v D-1I
4. A-1II B-I C-1l D-IV

Options :

92090691981. 1
92090691982. 2
92090691983. 3
92090691984. 4

Question Number : 96 Question Id : 92090623272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

Name of Theater List | Year of Est.  List li

A. e ZERIIE FRUIRE I SRS

B. AMRAI Ty 1. SERF

C. weafie sfrene . Ry

D. (POBRX Tfewe V. S22k

A. (S TRl 2EHE R LAY

B. FoWge fATA6T I 55e¢

C. g fArEee M. 3o

D. CEh fArEsa IV. D389
Choose the correct answer from the options given below:
1. A-1l B-ll C-1 D-IV
2. A-l1  B-IV C-ll D-l
3. A-11 B-I c-1v D-1I
4. A-1II B-I C-1l D-IV

Options :

92090691981. 1
92090691982. 2
92090691983. 3
92090691984. 4

Question Number : 96 Question Id : 92090623272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

Name of Theater List | Year of Est.  List li

A. e ZERIIE FRUIRE I SRS

B. AMRAI Ty 1. SERF

C. weafie sfrene . Ry

D. (POBRX Tfewe V. S22k

A. (S TRl 2EHE R LAY

B. FoWge fATA6T I 55e¢

C. g fArEee M. 3o

D. CEh fArEsa IV. D389
Choose the correct answer from the options given below:
1. A-1l B-ll C-1 D-IV
2. A-l1  B-IV C-ll D-l
3. A-11 B-I c-1v D-1I
4. A-1II B-I C-1l D-IV

Options :

92090691981. 1
92090691982. 2
92090691983. 3
92090691984. 4

Question Number : 97 Question Id : 92090623273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Proverbial Saying List | Meaning List Il
A. RSl REF ME I Ccows ROI-KIF DHC KOS
B. Wl RSN X AR . @R-TC TEW-TH WE
C. ®WOC kR I8 .  RE RC DOW WADR LOCE
D. ®a®I RAD BN IV.  BR RHC R4ZIEMf REDE'E
A, WE T Al I CoTeal SEe WY (IRl el
B. S A A 0. SEHLSE S-Sl o4&
C. WrHnes e fa M. ST ST T A2E T AT S e =41
D. AR 412 919l V. 29 4eqA BREE JiRdEl
Choose the correct answer from the options given below:
1. A-ll. B-Vv C-1 D-l
2. A-lI B-ll C-Iv D-I
3. A-Il B-1 C-Iv D-lll
4. A-Il B-IV C-ll D-I

Options :

92090691985. 1
92090691986. 2
92090691987. 3
92090691988. 4

Question Number : 97 Question Id : 92090623273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Proverbial Saying List | Meaning List Il
A. RSl REF ME I Ccows ROI-KIF DHC KOS
B. Wl RSN X AR . @R-TC TEW-TH WE
C. ®WOC kR I8 .  RE RC DOW WADR LOCE
D. ®a®I RAD BN IV.  BR RHC R4ZIEMf REDE'E
A, WE T Al I CoTeal SEe WY (IRl el
B. S A A 0. SEHLSE S-Sl o4&
C. WrHnes e fa M. ST ST T A2E T AT S e =41
D. AR 412 919l V. 29 4eqA BREE JiRdEl
Choose the correct answer from the options given below:
1. A-ll. B-Vv C-1 D-l
2. A-lI B-ll C-Iv D-I
3. A-Il B-1 C-Iv D-lll
4. A-Il B-IV C-ll D-I

Options :

92090691985. 1
92090691986. 2
92090691987. 3
92090691988. 4

Question Number : 97 Question Id : 92090623273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Proverbial Saying List | Meaning List Il
A. RSl REF ME I Ccows ROI-KIF DHC KOS
B. Wl RSN X AR . @R-TC TEW-TH WE
C. ®WOC kR I8 .  RE RC DOW WADR LOCE
D. ®a®I RAD BN IV.  BR RHC R4ZIEMf REDE'E
A, WE T Al I CoTeal SEe WY (IRl el
B. S A A 0. SEHLSE S-Sl o4&
C. WrHnes e fa M. ST ST T A2E T AT S e =41
D. AR 412 919l V. 29 4eqA BREE JiRdEl
Choose the correct answer from the options given below:
1. A-ll. B-Vv C-1 D-l
2. A-lI B-ll C-Iv D-I
3. A-Il B-1 C-Iv D-lll
4. A-Il B-IV C-ll D-I

Options :

92090691985. 1
92090691986. 2
92090691987. 3
92090691988. 4

Question Number : 98 Question Id : 92090623274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Word  List | Syllable List Il

| A Rm L @Eers, M

B. R Il mrm

C. % N,  @eoes, mir, 5

D. RE Iv. mimr, @b

A, BIF | e, e

B. Bf n. e

C- 5 m. e=oR B e

D. % v. R, @

Choose the correct answer from the options given below:

1 A-IV B-I Cc-mm D-1
2 A-IV B-I C—=Il D-1I
3. A-1ll B-I C-il D-IV
4 A-Iv B-1Il C-ll D-I

Options :

92090691989. 1
92090691990. 2
92090691991. 3
92090691992. 4

Question Number : 98 Question Id : 92090623274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Word  List | Syllable List Il

| A Rm L @Eers, M

B. R Il mrm

C. % N,  @eoes, mir, 5

D. RE Iv. mimr, @b

A, BIF | e, e

B. Bf n. e

C- 5 m. e=oR B e

D. % v. R, @

Choose the correct answer from the options given below:

1 A-IV B-I Cc-mm D-1
2 A-IV B-I C—=Il D-1I
3. A-1ll B-I C-il D-IV
4 A-Iv B-1Il C-ll D-I

Options :

92090691989. 1
92090691990. 2
92090691991. 3
92090691992. 4

Question Number : 98 Question Id : 92090623274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

Word  List | Syllable List Il

| A Rm L @Eers, M

B. R Il mrm

C. % N,  @eoes, mir, 5

D. RE Iv. mimr, @b

A, BIF | e, e

B. Bf n. e

C- 5 m. e=oR B e

D. % v. R, @

Choose the correct answer from the options given below:

1 A-IV B-I Cc-mm D-1
2 A-IV B-I C—=Il D-1I
3. A-1ll B-I C-il D-IV
4 A-Iv B-1Il C-ll D-I

Options :

92090691989. 1
92090691990. 2
92090691991. 3
92090691992. 4

Question Number : 99 Question Id : 92090623275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1

Warimacha List | Saktam  List1l
A. RREREF THROD Rkl . BOfow
B. Wl Il RORD
C. WHEM! Re COARE . omrs
D. TR BRe V.  HkE
A, EYE e A L aE
B. W .  WEE
C. SRET T Jeeidal m.  qF4
D. f&ZWE Iv. B
Choose the correct answer from the options given below:
1. A-Il. B-1 C-Iv D-1I
2. A-ll B-l C-1 D-Iv
3. A-Il B-IV C-ll D-I
4. A-Ul B-1l C-IV D-I
Options :

92090691993. 1
92090691994. 2
92090691995. 3
92090691996. 4

Question Number : 99 Question Id : 92090623275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1

Warimacha List | Saktam  List1l
A. RREREF THROD Rkl . BOfow
B. Wl Il RORD
C. WHEM! Re COARE . omrs
D. TR BRe V.  HkE
A, EYE e A L aE
B. W .  WEE
C. SRET T Jeeidal m.  qF4
D. f&ZWE Iv. B
Choose the correct answer from the options given below:
1. A-Il. B-1 C-Iv D-1I
2. A-ll B-l C-1 D-Iv
3. A-Il B-IV C-ll D-I
4. A-Ul B-1l C-IV D-I
Options :

92090691993. 1
92090691994. 2
92090691995. 3
92090691996. 4

Question Number : 99 Question Id : 92090623275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1

Warimacha List | Saktam  List 1l
A. RREREF THROD Rkl . BOfow
B. Wl Il RORD
C. WHEM! Re COARE . omrs
D. TR BRe V.  RkE
A, EYE e A L aE
B. W .  WEE
C. SRET T Jeeidal m.  qF4
D. f&ZWE Iv. B
Choose the correct answer from the options given below:
1. A-Il. B-1 C-Iv D-1I
2. A-Il B-ll C-1 D-IV
3. A-Il B-IV C-ll D-I
4. A-Ul B-1l C-IV D-I

Options :

92090691993. 1
92090691994. 2
92090691995. 3
92090691996. 4

Question Number : 100 Question Id : 92090623276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

MName of book List | Original language List Il
A. SkeE 2T TR . mefo
! B. UIF-TAY CF CM . gemmwaf
C. maf weaf [T
D. afofl T OMC ReTERSTV Rk v, wfest
A. EIETE S =Ml L 3
B. S-SIZIG (HWE! 0. (@@
c. I m o
D. e =y ot wlagpaiad sy v, @
Choose the correct answer from the options given below:
1. A-l. B-1 C-l D-IV
2. A-ll B-IV C-ll D-I
3. A-HII B-I C-Iv D-Hl
4. A-lIl B-Ill C-1I D-IV
Options :

92090691997. 1
92090691998. 2
92090691999. 3
92090692000. 4

Question Number : 100 Question Id : 92090623276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

MName of book List | Original language List Il
A. SkeE 2T TR . mefo
! B. UIF-TAY CF CM . gemmwaf
C. maf weaf [T
D. afofl T OMC ReTERSTV Rk v, wfest
A. EIETE S =Ml L 3
B. S-SIZIG (HWE! 0. (@@
c. I m o
D. e =y ot wlagpaiad sy v, @
Choose the correct answer from the options given below:
1. A-l. B-1 C-l D-IV
2. A-ll B-IV C-ll D-I
3. A-HII B-I C-Iv D-Hl
4. A-lIl B-Ill C-1I D-IV
Options :

92090691997. 1
92090691998. 2
92090691999. 3
92090692000. 4

Question Number : 100 Question Id : 92090623276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

Mame of book List | Original language Listll

A gmew 2 o . ®afm

B. UIF-TAY R°EE UM . semmar

C. mef weaf 1T

D. afofm Tk OMT ReERSIf i v, wfes

A, SHEIC G oM 1L 2

B. I-HZIS (Tl 0. 3@

C. Fer = m o9

D. e s wet sfagafam s v, @
Choose the correct answer from the options given below:
1. A-Ill B-1 C-ll D-W
2 A-1l B-IVv C-lll D-I
X A-llll B-I C-Iv D-1ll
4. A-I B-lI C-I D-1IV
Options :

92090691997. 1
92090691998. 2
92090691999. 3
92090692000. 4




